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Introduction

Let me start by thanking you for considering using this course. I’m never satisfied with anything I do. So I will appreciate any comments and suggestions that you have, preferably on one of the two KISS discussion groups, or directly to me at evavra@Kissgrammar.org.

Over the years in which I taught KISS in a college Freshman Composition course, the students usually did two exercises a week. Most of these exercises should have taken ten to fifteen minutes to complete. Often I just asked if there were any questions. As for grading this part of their work, three or four times during the semester I collected their work and randomly picked one sentence from the assignment to grade. Sometimes I gave students one sentence (not in the homework) in class, asked them to analyze it, and I graded it. During those years, several students told me that they wished that they had learned this grammar in high school. The material has been adapted from what I used then so that upper-middle and high school teachers—and college Freshman Comp instructors—can adapt it for use in one semester. This book contains coded analysis keys. To get the codes, click here: Code and Color Key.

Another major difference between KISS and almost all other grammars is that KISS allows alternative explanations. If you click on the preceding link, you will probably agree that some words can be explained in more than one way. Students who propose an alternative have to give a justification for it. If I feel the justification isn’t very good, I ask the class to vote on whether or not it is valid. If the class votes “yes” and I disagree, I usually accept it. A mistake on the function of one word or construction is not worth undercutting the students’ feeling that their ideas are often worthy. This doesn’t happen very often, and many students like the ability to explain alternatives. I have included several alternatives in these analysis keys.
What this Sequence Is

Other sequences in KISS are designed to start as early as first grade and continue through twelfth. In these multi-year sequences, the students’ goal is to be able to identify and explain the function of 99.9% of the words in anything they read or write. It is not possible to reach that goal in one semester. Therefore the students’ goal in this sequence is to be able identify 99.9% of all the main and subordinate clauses in whatever they read or write. For them to do this, the students’ book includes 44 exercises, 27 of which I have marked “Skip?” in this book. I strongly suggest that you use the 17 that are not so marked in the order in which they appear. I also suggest that you introduce your students to the KISS Psycholinguistic Model. The famous Russian cognitive psychologist Lev Vygotsky argued that instruction works best when the students have and can understand the purpose of the instruction. The KISS model motivated many of my students.
Another motivating factor is the cummulative nature of KISS exercises. Most grammar books discuss one construction at a time, give students an exercise or two, and then drop that construction and go on to another. This sequence begins with identifying subjects/verbs/complements in relatively simple sentences. In every analytical exercise after that, students identify these patterns. In other words, new constructions are always added. That is why I can claim that by using this book, most students should be able to identify 99.9% of clauses.
You can replace or add to the exercises in this book by making your own or by looking at the KISS “Master Collection.” It has several sections, and in this key I have linked to various parts of that collection that contain similar exercises.
Problems to Expect
I probably don’t need to explain to teachers the problems with the poor standards in our schools. Seventh grade teachers, for example, often have to deal with students who are reading at the third grade level and at the same time other students who are reading at the eleventh grade level. That’s an impossible task. Then there are the students who are in school because they have to be, and they often do not do the homework. Unfortunately most students have had to study “grammar.” The very word turns them off—what they were taught was to them (and for many teachers) meaningless.

Beyond that, too many students are looking for the “right answer.” They refuse to learn a sequence of steps to solve a problem. For example, the directions for identifying prepositional phrases are in Lesson Three. The instructional material gives them a list of words that can function as prepositions. The exercises give them a short number of sentences, and tell the students to find the words in that list and then ask “whom” or “what” after them to find the prepositional phrases. Students who follow directions usually finish that exercise in ten minutes. I remember one semester when students complained that they spent two hours on the lesson and exercise on these phrases—and they said that they still didn’t understand them. When I asked them what they did, several replied that they spent two hours on the web searching for more information about prepositional phrases. Expect some students to do that. I had to regularly remind students to follow the directions.
The cumulative nature of KISS instruction also causes a major problem for some students. In my experience when we were through five or six weeks of working on KISS, a half or more of the students were beginning to understand what they were learning—and they liked it. Early in my career I was teased because I often referred to the “critical mass” in the classroom. By that I meant that classes always have some students who are there to learn and others who are just there to get credit for the course. With KISS that critical mass that grew as more and more students caught on. But the students who had not mastered the early lessons had a very hard time catching up.
Lesson 1 - Subjects, Verb, and Complements
[http://kissgrammar.org/kiss/wb/LPlans/WB_L1_1.htm]

[http://kissgrammar.org/kiss/wb/LPlans/WB_L1_3_Complements.htm]

In these analysis keys, I indicate the KISS explanations of all the words in every sentence. Given these, you will probably absorb what many of these are before they are introduced to students.
Ex. 1 – Interesting Quotations [AK]

Note: I haveError! No index entries found. labeled complements by their type—“PN,” “PA,” DO,” and “IO.”

1. Laughter is the shortest distance (PN) {between two people}. |
2. Good luck has its storms (DO). |
3. Everything {in life} is luck (PN). |
4. Life {without music} would be a mistake (PN). |
5. You live and learn. | {At any rate}, you live. |
6. A man {in a passion} rides a mad horse (DO). |
7. Words make love (DO) {with one another}. |
8. Opportunity has hair (DO) {in front} but is bald (PA) behind. |
9. We hang the petty thieves (DO) and appoint the great ones (DO) {to public office}. |
10. The future is here. | It’s just not widely distributed yet. |
11. I couldn’t help it (DO). | I can resist everything (DO) {except temptation}. |
12. Nothing’s beautiful (PA) {from every point of view}. | 

13. The Devil can cite Scripture (DO) {for his purpose}. |
14. I’m a charming coward (PN); | I fight {with words}. |
15. It’s not the size (PN) {of the dog} {in the fight}, | it’s the size (PN) {of the fight} {in the dog}. 
Lesson 2 – Nouns, Pronouns, Adjectives and Adverbs
[http://kissgrammar.org/kiss/wb/LPlans/WB_L1_2_Adj_Adv.htm]
Ex 2a - From Alice in Wonderland [AK]
1. She (PRN) had succeeded {in bringing [V Ger OP] herself (PRN C) [#1] down} {to her usual height (N)}. |
1. Expect students to underline “bringing” twice and then to be confused by its subject. It is a verbal (gerund) that functions as the object of the preposition “in.” “Herself” functions as the direct object of “bringing.” 

2. “What (PRN C) do you (PRN) mean {by that (PRN)?” [Inj. [#2] said the Caterpillar (N), sternly]. | 

2. KISS explains this clause as an interjection. See KISS Level 3.2.3 - Interjection? Or Direct Object? 

3. The judge (N), {by the way (N)} [#3], was the King (N C) | and he (PRN) wore his crown (N C) {over his great wig (N)}. | 

3. The prepositional phrase “by the way” can be explained as an adverb and/or as an interjection. 

4. She (PRN) waited {for some time (N)} {without hearing [V Ger OP] anything (PRN C) more [#4]}. | 

4. See Note # 1. In this case, “anything” functions as the direct object of the gerund “hearing,” and the gerund phrase functions as the object of the preposition “without.” Grammarians will give a variety of explanations for “more.” Note that it could simply replace “anything”—“without hearing more.” As a result, it could be considered a pronoun appositive for “anything.” It could also be an adjective to “anything.” Other explanations involve ellipsis and become complex. The sentence means “anything more than he had heard before.” 

5. Oh [Inj] , my poor little feet [N DirA], I (PRN) wonder [DO who (PRN) will put on your shoes (N DO) and stockings (N DO) {for you (PRN) } (IO)  now, dears [N DirA] ]? | 

6. “*You* (PRN) Let us [PRN S] get [#5] {to the shore (N)}| and then I (PRN) ‘ll tell you (PRN IO) my history (N DO). |” 
5. Expect students to be confused. “Get” is a verbal (an infinitive). “Us” is the subject of “get” and the infinitive phrase functions as the direct object of “Let.” 

7. She (PRN) looked up, | but it (PRN) was all dark (PA) overhead; | {before her (PRN)} was another long passage (N) | and the White Rabbit (N) was still {in sight (N)}. | 

8. “Mouse [N DirA] dear! You (PRN) Do come back again, | and we (PRN) won’t talk {about cats (N), or dogs (N) either}, [Adv. to “won’t talk” if you (PRN) don’t like them (PRN DO)]!” | 

9. “That (PRN) ’s the jury-box (N PN),” [Inj. [#2 above] thought Alice (N)]; | “and those twelve creatures [N #6] ( [Inj. [#7] some (PRN) were animals (N PN)] and [Inj. some (PRN) were birds (N PN)]) I (PRN) suppose [DO they (PRN) are the jurors (N PN)].” | 

6. You will have a hard time finding an explanation for “creatures” in most grammar textbooks. KISS explains it as an (unusual) appositive to the following “they.” See KISS Level 5.4 - Appositives. 

7. Rhetoricians call constructions enclosed in parentheses like this “parenthetical constructions.” Instead of adding that additional term, KISS considers them to be a form of interjections. Note that in this case “some” renames “creatures” and thus is also processed as an appositive to “creatures.” 

Ex. 2b - From “The Blue Hotel” by Stephen Crane [AK]
Because the color codes should explain the function of most adjectives and adverbs, notes have been used only for those cases that might require explanation. Unlike the analysis keys for most exercises, the functions of individual words within prepositional phrases are color coded here. And since they have not studied prepositional phrases, the students will have some trouble with them.
1. He wore a heavy fur cap (DO) squeezed tightly down {on his head}. | 

“Squeezed” is a verbal (gerundive) that functions as an adjective to “cap.” Expect most students to be confused by it, but it does function as an adjective to “cap.” 

2. He looked anxiously down {into the bloody, pulpy face} {of his son}. | 

3. The dazzling winter landscape {of Nebraska} seemed only a gray swampish hush (PN). | 

Not recognizing “seem” as a verb of equality, many students may not recognize “hush” as a predicate noun. KISS puts special focus on this in Level 2.1.4 - Palimpsest Patterns.

4. Afterwards they went {to the first room}, sat {about the stove}, and listened {to Scully's officious clamor} {at his daughters}. | 

5. Instantly the men {in some subtle way} incased themselves (DO) {in reserve}. | 

6. The Swede, however, merely dipped his fingers (DO) {in the cold water} gingerly and {with trepidation}. | 

“However,” connects (and contrasts) the verb in this sentence with that in the preceding one. Out of context, of course, that cannot be clearly seen.

7. Scully's wrinkled visage showed grimly {in the light} {of the small lamp}. | 

8. The Swede answered him (DO) swiftly and eagerly. | 

9. They trudged off {over the creaking board sidewalks} {in the wake} {of the eager little Irishman}. | 

Lesson 3 - Adding Simple Prepositional Phrases
[http://kissgrammar.org/kiss/wb/LPlans/WB_L1_5_Prep_Phrase.htm]
Ex. 3 a – Adapted from Rip Van Winkle, by Washington Irving [AK]

1. An old Flemish painting, {in the parlor} {of Dominie Van Schaick}, had been brought (P) {from Holland} {at the time} {of the settlement}. | 

Embedded prepositional phrases and the phrase into which they are embedded— (“in the parlor) (of Dominie Van Schaick)—are underlined. This means that the “of” phrase modifies something in the “in” phrase.

2. {In a long ramble} {on a fine autumnal day}, Rip had unconsciously scrambled {to one} {of the highest parts} {of the Kaatskill mountains}. | 

3. He looked {in vain} {for Nicholas Vedder}, {with his broad face, double chin, and fair long pipe}. | 

4. Nothing interrupted the stillness (DO) {of the scene} {but the noise} {of the ninepin balls}. | 

The “but” phrase modifies the subject “Nothing.”
5. The appearance {of Rip}, {with his long, grizzled beard, his rusty fowling-piece, his uncouth dress, and the army} {of women and children} {at his heels}, soon attracted the attention (DO) {of the tavern politicians}. | 

6. He would sit {on a wet rock}, {with a rod} as long [PPA] and heavy [PPA] {as a Tartar’s lance}, and fish all day [NuA] {without a murmur}. | 

“Long” and “heavy” are post-positioned adjectives to “rod.” See KISS Level 5.5 —Post-Positioned Adjectives.
“Day” is a Noun Used as an Adverb. See KISS Level 2.3.

Ex. 3 b – From Charles Dickens’ A Tale of Two Cities [AK] 
1. All the human breath {in the place} [Adj. to “breath”], rolled {at him} [Adv. (space) to “rolled”], {like a sea, or a wind, or a fire} [Adv. (manner) to “rolled”]. | 

2. The Court, {from that exclusive inner circle} [Adj. to “Court”] {to its outermost rotten ring} [Adj. to “Court”] {of intrigue, corruption, and dissimulation} [Adj. to “ring”], was all gone together. | 

3. {In the course} [Adv. (time) to “made”] {of an evening} [Adj. to “course”] passed [Give. to eening”] {with Miss Pross, the Doctor, and Mr. Lorry} [Adv. (condition) to  “passed”], Charles Darnay made some mention (DO) {of this conversation} [Adj. to “mention”] {in general terms} [Adv. (manner) to “made”], and spoke {of Sydney Carton} [Adv. (manner?) to “spoke”] {as a problem} [Adv. (manner) to “spoke”] {of carelessness and recklessness} [Adj. to “problem”]. | 

 “Passed” is a verbal (gerundive) that modifies “evening.” See KISS Level 4.

Note the importance of “and” before “Mr. Lorry.” It signals that “Mr. Lorry” is the last item in the prepositional phrase, thereby leaving “Charles Darnay” free to be a subject.

“Of Sydney Carton” is clearly adverbial because it modifies “spoke,” but it does not really fit the logical categories of adverbial modifiers. “Spoke of” is meaningfully equivalent to “discussed,” so although the phrase modifies a verb, the phrase is more one of identity. 

4. {With those words, and a final snap} [Adv. (manner) to “shouldered”] {of his fingers} [Adj. to “snap”], Mr. Stryver shouldered himself (DO) {into Fleet-street} [Adv. (place) to “shouldered”], {amidst the general approbation} [Adv. (condition) to “shouldered”] {of his hearers} [Adj. to “approbation”]. | 

5. I was walking {on a retired part} [Adv. (place) to “was walking”] {of the quay} [Adj. to “part”] {by the Seine} [Adj. to “quay”] {for the refreshment} [Adv. (purpose) to “was walking”] {of the frosty air} [Adj. to “refreshment”], {at an hour’s distance} [Adv. (place) to “was walking”] {from my place} [Adj. to “distance”] {of residence} [Adj. to “place”] {in the Street} [Adj. to “place” and “residence”] {of the School} [Adj. to “Street”] {of Medicine} [Adj. to “School”]. | 

I have marked “by the Seine” as an adjective to “quay” because our minds probably chunk words to the nearest word or construction that makes sense. “By the Seine” could alternatively be explained as an adverb to “was walking.” The important point is that the phrase chunks to another word or construction within its sentence. 

Lesson 4 – Adding “You” and “There” as Subjects

Many grammar books consider this “there” to be an “expletive.” They then identify a word that appears later in the sentence as the subject. This adds an unneeded term for the students to learn.
[http://kissgrammar.org/kiss/wb/LPlans/WB_L2_1_1_You.htm]
[http://kissgrammar.org/kiss/wb/LPlans/WB_L2_1_3_Expletives.htm]

Ex. 4 – From Heidi by Johanna Spyri [AK]

1. *You* Talk {to me} (IO) {about your grandfather}. |
2. {Of course} [Inj] there was enough room (PN) {in the huge house}. |
3. *You* Go in, Heidi [DirA], and fetch your bowl (DO) and the bread (DO). |
4. *You* Please give my love (DO) {to Peter and the goats} (IO), Heidi [DirA]! |
5. There is only one teacher (PN) there. |
6. Suddenly there was another knock (PN) {at the door}. |
7. *You* Sit down {beside me} and tell me (IO) all (DO) {about yourself}. |
8. There are lovely stories (DO) {in this book}. |
9. A few days [NuA] afterwards there was great excitement (PN) {in the Sesemann residence}. |
10. Oh [Inj], it is lovely (PA) here. | *You* Please come up, grandfather [DirA], and see it (DO) {for yourself} (IO). |
Lesson 5 - Adding the Five Types of Complements

[http://kissgrammar.org/kiss/wb/LPlans/WB_L1_3_Complements.htm]
Ex. 5 a - From Rip Van Winkle, by Washington Irving [AK]

1. The story {of Rip Van Winkle} may seem incredible (PA) {to many} (IO). | 

2. I give it (IO) my full belief (DO). | 

3. Not a dog would bark {at him} {throughout the neighborhood}. | 

4. He was a short, square-built old fellow (PN), {with thick bushy hair, and a grizzled beard}. | 

5. His farm was the most pestilent little piece (PN) {of ground} {in the whole country}. | 

6. The old Dutch inhabitants, however, almost universally gave his story (IO) full credit (DO). | 

7. Times grew worse (PA) and worse (PA) {with Rip Van Winkle}. | 

“Worse” can also be explained as an adverb, thereby making this a zero complement pattern.
8. Rip Van Winkle, however, was one (PN) {of those happy mortals}, {of foolish, well-oiled dispositions}. | 

9. His fences were continually falling {to pieces}. | 

10. The house was empty (PA), forlorn (PA), and apparently abandoned (PA). | 

Ex. 5 b - From A Tale of Two Cities, by Charles Dickens [AK]
1. “This is our poor prisoner’s darling daughter (PN).” | 

2. Mr. Lorry’s eyes gradually sought the fire (DO). | 

3. They were sitting {under the plane-tree}. | 

4. *You* Show the door-keeper (IO) this note (DO) {for Mr. Lorry}. | 

This understood “You” is the focus the next lesson. Praise the students who get it here.
5. The men were terrible (PA), {in the bloody-minded anger}. | 

6. Some women were stooping {over the motionless bundle}. | 

7. Then, {with that man’s permission} and even {with his aid}, his brother took her (DO) away. | 

8. And she showed me (IO) her children (DO). | 

9. This new life {of the Doctor’s} was an anxious life (PN). | 

10. His wooden shoes are large (PA) and clumsy (PA). | 

Lesson 6 - Adding Main Clauses

[http://kissgrammar.org/kiss/wb/LPlans/WB_L3_1_1_CMC.htm]
Ex. 6 a – Five Quotations [AK]
1. Force is all-conquering (PA), | but its victories are short-lived (PA). |
2. *You* Always forgive your enemies (DO) | —nothing annoys them (DO) so much. |
3. We didn't lose the game (DO); | we just ran out of time (DO). |
“Ran out of” is probably best explained as an idiomatic verb. However, I’d accept “out of time” as an adverbial prepositional phrase. It’s not worth the time for arguing it.

4. There are {in nature} neither rewards (PN) nor punishments (PN) | – there are consequences (PN). |
5. You can fool some (DO) {of the people} all {of the time}, and all (DO) {of the people} some [NuA] {of the time}, | but you cannot fool all (DO) {of the people} all {of the time}. |
Ex. 6 b - From Charles Dickens’ A Tale of Two Cities [AK]
1. They drew back {from the window}, | and the Doctor looked {for explanation} {in his friend’s ashy face}. | 

2. Monseigneur received him (DO) {in a courtly manner}, | but they did not shake hands (DO). | 

3. I don’t know; | I prefer not to do [V Inf. DO] so (DO). | 

“So” here functions as a pronoun, the direct object of the verbal (infinitive) “to do.” (See KISS Level 4.) Praise students who see that “to do so” is the direct object of “prefer.

4. He waited and waited, | and the clock struck twelve (DO); | but Doctor Manette did not come back. | 

5. “He has never seen me (DO) here; | I have kept out {of his way}.” | 

6. But, he spoke, | and it was his voice (PN); | he took the prisoner’s hand (DO), | and it was his real grasp (PN). | 

7. The shining Bull’s Eye {of the Court} was gone (PA), | or it would have been the mark (PN) {for a hurricane} {of national bullets}. | 

8. *You* Crush humanity (DO) out {of shape} once more, {under similar hammers}, | and it will twist itself (DO) {into the same tortured forms}. | 

9. “She is greatly distressed (P); | but her father is comforting her (DO), | and she now feels better out {of court}.” | 

Lesson 7 - Interjections, Direct Address, and NuA

[http://kissgrammar.org/kiss/wb/LPlans/WB_L2_3_Ttree_Add.htm]
Ex. 7 - Adapted from Charles Dickens’ A Tale of Two Cities [AK] Skip?
1. “Are you quite a stranger (PN) {to me}, sir [DirA]?” | 

2. “The relapse, my dear friend [DirA], was not quite unforeseen (PA) {by its subject}.” | 

3. The mender {of roads} went home [NuA] . | 

4. “Oh [Inj] dear [Inj] yes! [Inj] Yes. [Inj] Oh [Inj] yes [Inj], you’re eligible (PA)!” | 

5. “But my dear [DirA]! You are faint (PA) {of heart} to-night [NuA], my dear [DirA]!” | 

6. Her little daughter was six years [NuA] old (PA). | 

7. “O [Inj], sir [DirA], another time [NuA] you shall know my name (DO).” | 

8. “*You* Have the goodness (DO) to give [V Inf. Adj. to “goodness] me (IO) a little glass (DO) {of cool fresh water}, madame [DirA].” | 

“Me” is the indirect object and “glass” is the direct object of the verbal (infinitive) “to give.” The infinitive phrase functions as an adjective that describes “goodness.”

9. Many a night [NuA] and many a day [NuA] had its inmates listened {to the echoes} {in the corner}. | 

“Many a” is idiomatic, but for those people who want to get technical, “many” can also be a noun or pronoun. An alternative explanation is to consider “Many” a Noun Used as an adverb to modify “a.” 

“In the corner” could be seen as an adverb to “had listened,” but that explanation suggests that the inmates were in the corner.

Lesson 8 – Distinguishing Finite Verbs from Verbals

[http://kissgrammar.org/kiss/wb/LPlans/WB_L2_1_6_D_Verbals.htm]
Directions for this lesson:
1. Place parentheses ( ) around each prepositional phrase.

2. Underline every finite verb twice, its subject(s) once, and label complements.

3. Label every verbal “V,” its function, and its complement by type.

4. Put a vertical line after each main clause.
Ex. 8 a - Distinguishing Verbals from Hans Brinker [AK]
1. They are employed (P) {in sawing [V Ger. OP] timber (DO), beating [V Ger. OP] hemp (DO), grinding [V Ger. OP], and many other kinds (OP)} {of work}. |
“Sawing,” “beating,” and “grinding” pass the noun test. They are verbals that function as nouns.
2. Sometimes he stopped to throw [V Inf. Adv. (purpose)] some feathery seed-ball (DO) {in the air}. |
“To throw” does not pass the “to” test. It is a verbal (infinitive) that functions as an adverb of purpose.
3. A large earthen cup filled [V Give. Adj. to “cup”] {with burning peat} stood {near the bedside}. |
The sentence does not mean that the cup filled anything (including itself). It means the cup “was filled,” but the sentence test says that words like “was” cannot be added.
4. Gretel had placed it (DO) there to “stop [V Inf. Adv (purpose)] the father’s shivering [V Ger. DO of “to stop”]” |
“Stop” does not pass the “to” test, and “shivering” passes the noun test because it functions as the direct object of “to stop.”
5. Hilda, coming [V Give Adj to “Hilda”] {to the point} {of her errand}, faltered {before the poorly clad but noble-looking children}. |
“Coming” here is similar to “filled” in #3. For “coming” to be a finite verb, it would have to have “was” in front of it.
6. It was a small man (PN) dressed [V Give. Adj. to “man”] {in black}, {with a short cloak}. |
The sentence does not mean that “A man dressed in black.” It means that the man “was” dressed, but we cannot add a word for the sentence test, so “dressed has to be a verbal. (Note how KISS explanations focus on the meaning of the sentence.)

I would accept “with a short cloak” as adverbial to “dressed,” but the comma in front of it tends to cut it off from the “dressed” phrase and thus sends it back to “man.” 
7. The Hollanders are naturally anxious (PA) to secure [V Inf. Adv. to “anxious”] the credit (DO) {of the invention} {for their illustrious townsman} (IO). |
“To secure” does not pass the “to” test.
8. The priest determined to assist [V Inf. DO] him (DO), and accordingly lent him (IO) six hundred guilders (DO), advising [V Ger NuA to “lent”] him (IO) {at the same time} to demand [V Inf. DO] a better price (DO) {for his pictures}. |
“To assist” and “to demand” do not pass the “to” test, and  “advising” does not pass the sentence test—“The Hollanders advising him” cannot be the core of a sentence.
9. Peter had, {for the present}, exhausted his stock (DO) {of Haarlem anecdotes}, | and now, having [V Give Adj to “he” and “companions”] nothing (DO) to do [V Inf. Adj. to “nothing”] {but to skate [V Inf. OP]}, he and his three companions were hastening to “catch up” [V Inf. Adv. (purpose)] {with Lambert and Ben}. |
“Having” does not pass the sentence text—Peter having nothing is not a sentence.
“To do” passes the “to” test, and the sentence test—“Nothing to do” does not make a sentence.

 “To skate” functions as the object of a preposition, so it passes the noun test.

“To catch up” explains why they were hastening, not what. Since it does not function as a noun, it has to be a verbal.

Ex. 8 b - Distinguishing Verbals from Rip Van Winkle [AK]
1. They came {to a hollow}, {like a small amphitheatre}, surrounded [#1] {by perpendicular precipices}. | 

1. “Surrounded” does not pass the sentence test so it is a verbal, a gerundive that functions as an adjective to “hollow.” 

2. The spirits influenced the weather (DO), spreading [#2] sunshine (DO) or clouds (DO) {over the landscape}, and sending good or bad hunting seasons (DO). | 

2. Neither “spirits spreading sunshine” nor “spirits sending seasons” passes the sentence test. Thus they are both verbals. [They are gerundives that modify “spirits.” “Sunshine” and “clouds” are direct objects of “spreading,” and “seasons” is the direct object of “sending.”] A few students may be initially confused by “hunting,” but they will probably quickly acknowledge that it functions as an adjective to “seasons” and not as a finite verb. 

3. She dwelt {on the highest peak} {of the Catskills}, and had charge (DO) {of the doors} {of day and night} to open [V Inf. Adj. to “charge”] and shut [V Inf. Adj. to “charge”] them (DO) {at the proper hour}. | 

3. “To open” and “shut” both fail the “to” test. They are infinitives. Some people may reasonably see them as adjectives to “charge,” whereas others will see them as adverbs to “had.” “Them” is the direct object of the infinitives. 

4. Panting [V Give. Adj. to “he”] and fatigued [V Give. Adj. to “he”], he threw himself (DO), late {in the afternoon}, {on a green knoll}, covered [#5] [V Give. Adj. to “knoll”] {with mountain herbage}. | 

4. “He panting” and “he fatigued” both fail the sentence test.
5. “A green knoll covered with mountain herbage” fails the sentence test. 
5. Supposing [V Give. Adj. to “he”] the figure [S] to be [V Inf. DO] some one (PN) [#6] {of the neighborhood} {in need} {of his assistance}, he hastened down to yield [V Inf. Adv. (purpose)] it (DO) [#7]. | 

6. “He supposing the figure to be some one of the neighborhood” fails the sentence test, so “supposing” is a verbal. “The figure to be some one of the neighborhood” fails both the “to” and the sentence tests, so “to be” is a verbal. Note the now outdated spelling of “some one.” You will find it in a number of older texts.  “Figure” is the subject and “some one” is a predicate noun to the infinitive “to be.” The infinitive phrase functions as the direct object of “supposing.” 

7. “He to yield it” fails both the “to” and the sentence tests. ”It is the direct object of the infinitive “to yield.” 

6. He would carry a fowling-piece (DO) {on his shoulder}, {for hours} together [#8], trudging [#9] [V Ger. NuA] {through woods and swamps}, and {up hill} and {down dale}, to shoot [#10] [V Inf. Adv. (purpose) to “would carry”] a few squirrels (DO) or wild pigeons (DO). | 

8. The explanation of “together” would evoke hours of discussion among grammarians, but most students will easily see that it goes with “hours.” Should someone ask, I would explain it as an adverb to an ellipsed gerundive that modifies “hours”—“for hours taken together.” 

9. “He trudging through the woods” fails the sentence test. 

10. “He to shoot a few squirrels” fails both the “to” and the sentence tests. 
Lesson 9 – Palimpsest Patterns

[http://kissgrammar.org/kiss/wb/LPlans/WB_L2_1_4_Palimpsest.htm]

The students do not need to remember the term “palimpsest pattern.” The objective should be that the students be able to correctly identify the type of complement. And to do so, all they have to do is to follow the KISS process for distinguishing the types of complements. In all the palimpsests I have seen the complement is either a predicate adjective or a predicate noun.
To my knowledge, “Palimpsest Patterns” are exclusive to KISS Grammar. Textbooks give a limited list of “linking verbs” that ignores sentences that include verbs like “sits,” “proved,” and all those in this exercise. If students are going to analyze their own writing, the questions that these patterns explain will arise and be easily answered. 
Ex. 9 - Palimpsest Patterns from The Last of the Mohicans [AK] Skip?
1. The death {of the colt} sits heavy (PA) {on the heart} {of its owner}. | 

2. Munro sat utterly unconscious (PA) {of the other’s presence}. | 

3. The rock proved softer (PA) {on each side} {of us}. | 

4. The air continued full (PA) {of horrible cries and screams}. | 

5. Her whole soul seemed ready (PA) and anxious (PA) to pour [V Inf Adv. to “anxious”] out its thanksgivings (DO). | 

6. The words appeared frozen (PA) {by some new and sudden chill}. | 

7. Her soft and melting eyes grew hard (PA). | 

8. The sun had now fallen low (PA) {towards the distant mountains}. | 

9. A vast range {of country} lay buried (PA) {in eternal sleep}. | 

10. But the youthful Uncas continued a silent and respectful listener (PN). | 

Lesson 10 – Adding Subordinate Clauses
[http://kissgrammar.org/kiss/wb/LPlans/WB_L3_1_2_SubCl.htm]
Directions for the exercises in this Lesson: 

1. Place parentheses ( ) around each prepositional phrase. 

2. Underline every finite verb twice, its subject once, and label complements. 

3. Label every verbal “V,” its function, and its complement by type.
4. Place brackets [ ] around each subordinate clause. Indicate the function of the clause by drawing an arrow from the opening bracket of adjectival and adverbial clauses to the word that each modifies. Label the function of noun clauses (DO, OP, etc.) above the opening bracket. 

5. Put a vertical line after each main clause. 
Ex. 10 a – Nine Sentences [AK]

Praise students who figure it out the subordinate clauses within subordinate clauses.
1. Fear is the darkroom (PN) [Adj. to “darkroom” where negatives are developed (P)] |.

Note that words like “where” function both as subordinating conjunction and (in this case) as an adverb inside the clause.

2. [Adv. (Condition) to “would milk” If a cow laughed,] would milk come {out her nose}? |
3. Her hair glistened {in the rain} [Adv. (comparison) like a nose hair might {after a sneeze}]. |
4. [Adv. (time) to “goes” When a clock is hungry (PA),] it goes back four seconds [NuA]. |
5. A bicycle can’t stand {on its own} [Adv. (Cause) to “can’t” because it is two-tired (PA)]. |
6. [Adv. (Condition) to “get repossessed” If you don’t pay your exorcist (IO)] you get repossessed (P). |
7. [Adv. (time) to “thought” When an actress saw her first strands (DO) {of gray hair}] she thought [DO she’d dye]. |
8. Only {in America} do we use answering machines (DO) to screen [V, Inf. Adj. to “machines”] calls (DO) and then have call waiting (DO) [Adv. (purpose) to “have” so we won’t miss a call (DO) {from someone} [Adj. to “someone” we didn’t want to talk [V Inf. DO] to {in the first place}. |
The last “to” in “to talk to” is idiomatic,” but it can be explained as a preposition—‘”we didn’t really want to talk to *that someone*.”
9. There are nominees (PN) {for the Chevy Nova Award}, [Adj. to “Award” which is given (P) out {in honor of the GM’s fiasco} {in trying [V Ger. OP] to market [V Inf. DO of “trying”] this car (DO) {in Central and South America}. | {In Spanish}, “No va” means [PN “it doesn’t go.”] |
Ex. 10 b – From “The Nightingale” [AK]

1. The next night [NuA] [Adj. to “night” when he heard it (DO) again] he would again exclaim, [DO “Heavens [Inj], how beautiful (PA) it is!”] | 

2. [Adv. to "said" When they heard the nightingale (DO)] they all said, [DO “This is better (PA) (than anything}!”] | 

3. There was hurrying [V Ger. DO] to and fro, and a great draught (PN), | but this was just [PN what made the bells [S] ring [V Inf. DO]]. | 

“Just” can be processed as an adverb to “was” or as an adjective to the “PN” clause.

“Bells” is the subject of the infinitive “ring,” and the infinitive phrase is the direct object of “made.”
4. [Adv. to "could sing" When the bird was wound (P) up] it could sing one (DO) {of the songs} [Adj. to "songs" the real one sang]. | 

5. But one evening [NuA] [Adj. to “evening” when the bird was singing its best [NuA]], and [Adj. *when* the emperor was lying {in bed} listening [V Ger NuA] {to it}], something gave way {inside the bird} {with a “whizz.”} | 

Grammarians will have a variety of explanations for “it best.” Some people might consider it to be a direct object of “singing,” but to me it explains how the bird was singing, so I consider it a noun (pronoun) used as an adverb. 

“Gave way” is idiomatic for “broke.” 

6. The poor fishermen [Adj. to "fishermen" who had heard the real nightingale (DO)] said, [DO “It sounds very nice (PA)], and [DO it is very {like the real one} (PA) ], but [DO there is something (PA) wanting [V Give. to “something”] ].” | 

Equally validly, some people will explain “like the real one” as an adverb to “is.”
Students will intuitively sense that “something wanting” goes together, but they will be confused about how to explain it. Take anything that makes sense. “Something” can be explained as a predicate noun and “wanting” as a gerundive that modifies it, but this explanation reduces “wanting” to a modifier. Ultimately, KISS explains “something wanting” as a noun absolute that functions as a predicate noun.
7. It sang {about the quiet churchyard}, [Adv. to “sang” when the roses bloom], [Adj. to "churchyard" where the elder flower scents the air (DO)], and [Adj. to "churchyard" where the fresh grass is ever moistened (P) anew {by the tears} {of the mourner}]. | 

Ex. 10 c – A Fairy [AK]

A Fairy told a married couple (IO): [DO of “told” “{For being such an exemplary married couple (PN)} {for 35 years}, I will give you (IO) each a wish (DO).”] | 

The second “couple” is a predicate noun after the gerund “being”; the gerund phrase functions as the object of the preposition “For.” 

“I want to travel [V, Inf. DO] {around the world} {with my dearest husband}” [Inj. said the wife.] | 

The infinitive “to travel” functions as the direct object of “want.”
KISS, based on the psycholinguistic model, explains “said the wife” as a clause that functions as an interjection. 

The fairy moved her magic stick (DO) and abracadabra [NuA]! | Two tickets appeared {in her hands}. | Now it was the husband’s turn (PN). | He thought {for a moment} and said: [DO of “said” “Well [Inj] this moment is very romantic (PA),] but [DO of “said” an opportunity {like this} only occurs once {in a lifetime}.] | So . . . I’m sorry (PA) my love [DirA], | but my wish is to have [V Inf. PN] a wife (DO) 30 years [NuA] younger [PPA] {than me}.” | 

“Wife” is the direct object of the infinitive “to have”; the infinitive phrase functions as a predicate noun to “wish is.” 

“Younger” is a Post-Positioned Adjective to “wife,” a reduction of “a wife who is 30 years younger ....” 

The wife was deeply disappointed (P) | but, a wish was a wish (PN). | 

The comma normally precedes the “but,” and I have heard college professors comment quizzically about why some students tend to put it after it—which they rightly consider to be a mistake. Note that in this case it may be after it in order to reflect hesitation about what follows.
The Fairy made a circle (DO) {with her magic stick} and ... abracadabra [NuA]! ... | 

Suddenly the husband was 90 years [NuA] old (PA). | 

Lesson 11 – A Focus on Modal Helping Verbs

[http://kissgrammar.org/kiss/wb/LPlans/WB_L1_1.htm]
Ex. 11 – A Focus on Modal Helping Verbs [AK] Skip?
1. [Adv. (cause) to “can get” Because I am already prepared (P),] I can get my dog (DO) there {in good time} |.
2. He could not utter a word (DO) [Adv. (time) to “could not utter” when he saw her (DO) standing [V Give. to “her”] {in front} {of him}]. | 

This sequence does not include noun absolutes, but the KISS explanation of “her standing” is that it is a noun absolute that functions as the direct object of “saw.”
3. {After [OP what (DO) she did],} she will not dare to show [V Inf. DO] herself (DO). |
4. {Without shelter} some harm may come {to you} [Adv. (condition) to may come” if you go camping [V Ger. NuA] {in the wilderness}]. |
At this point in their work, I would accept “go camping” as a finite verb.

5. The squirrel must have sprung {into the apple tree} [Adv. (time) to must have sprung” after we scared it (DO) {from the birdfeeder}]. |
6. Grandmother might have nice strengthening meals (DO) [Adv. (condition) to “might have” if she did not live alone]. |
7. [Adv. (condition) to “not” If we offer to help [V Inf. DO],] we need not go [V Inf. DO] away {from here}. |
8. You ought to be very much obliged (P) {to him} (IO) [Adv. (cause) to “ought to be” after what (DO) he did {for you} (IO)]. |
9. [Adv. (time) to “shall marry” When I grow up,] I shall marry the person (DO) {of my dreams}. |
10. Now she should go {to the hospital} [Adj. to “hospital” where they can help her (IO)]. |
11. I will throw this football (DO) {to you} (IO) [Adv. (condition) to “will throw” if you run deep {down the field}]. | 

12. He would never listen {to anything} [Adj. to “anything” that she said]. |
Lesson 12 - Subordinate Clauses as Interjections
[http://kissgrammar.org/kiss/wb/LPlans/WB_L3_2_3_SubCl_Inj_DO.htm]
Directions for exercises in this unit: 

1. Put parentheses ( ) around each prepositional phrase.

2. Underline subjects once, finite verbs twice, and label complements.

3. Label every verbal “V,” its function, and its complement by type.
4. Place brackets around each subordinate clause. If the clause functions as a noun, label its function above the opening bracket. If it functions as an adjective or adverb, draw an arrow from the opening bracket to the word that the clause modifies. If it functions as an interjection, label it “Inj.”

5. Put a vertical line at the end of every main clause. 
Ex. 12 a - From Twenty Thousand Leagues Under the Seas [AK]

1. A hundred and twenty minutes [Inj. (I counted them (DO) )] still separated me (DO) {from the moment} [Adj. to "moment" {in which} I was*supposed* to join [V Inf. RDO. #1] Ned Land (DO) ]. | 

1. “Was to join” is ambiguous. It may mean “was going to join.” This makes that whole phrase a finite verb phrase with “Ned Land” as its direct object. Or it may mean “was expected to join.” From this perspective, “to join” is a verbal (infinitive) that functions as a retained direct object after the passive “was expected.” For more on this see KISS Level 5.7 - Passive Voice, Exercise 8. (In either version, of course, “Ned Land” is the direct object of “to join.” 

2. Both eyes and glasses, a little [NuA] dazzled [V Give], [Inj. it is true (PA),] {by the prospect} {of two thousand dollars}, had not an instant's repose (DO). | 

3. Large quantities {of bacon} were trailed (P) {in the wake} {of the ship}, {to the great satisfaction} [Inj. ( I must say ) ] {of the sharks}. | 

4. An old gunner {with a gray beard} [Inj. -- that (DO) I can see now -- ] {with steady eye and grave face}, went up {to the gun} and took a long aim (DO). | 

5. Indeed [Inj], I declare [Inj. ( though it may seem improbable (PA) ) ] [DO [Adv. to "could not" if I sought to destroy [V Inf. DO] all hope (DO) ], [Adv. to "could not" [#2] if I wished to despair [V Inf. DO] ], I could not. | 

2. There is no “and” that joins these two “if” clauses, and the second is, in essence, a restatement of the first. Thus the second “if” clause could be considered an appositive to the first. For more on this, see Ex. 9 - Other Constructions as Appositives, in KISS Level 5.4. 

6. Then, [Inj. I know not why (DO),] the thought {of the monster} came {into my head} {for the first time}! | 

7. This faculty [Inj. -- I verified it (DO) later -- ] gave him (IO) a range (DO) {of vision} far superior [#3] {to Ned Land's}. | 

3. “Superior” is a post-positioned adjective that modifies “range.” 

8. Madrepores [Inj. ( which must not be mistaken (P) {for corals} ) ] have a tissue (DO) lined [V. Give. adj. to “tissue] {with a calcerous crust}. | 
Ex. 12 b - From The Secret Garden [AK]
	Note that some of these sentences include the slang and weak grammar of characters in the book. You might want to discuss these in class.


A Note for Teachers

If you search the web for “Tag Questions, you’ll find that many linguists and grammar sites discuss these tags. For example,

She went to the store, didn’t she?
I don’t know why they do this. Perhaps they like to make grammar more difficult? The preceding exercise demonstrated that writers used clauses as interjections, or, as the rhetoricians refer to them, “parenthetical constructions.”
How do the linguists deal with sentences that do not end in questions? Heidi, for example, includes the sentence: 

I want the goats to give me splendid milk, remember.
These exercises give students practice with the more common cases of these clauses that appear in dialogue.
1. That was nice (PA) {of him} [Inj. wasn’t it?] | 

2. And you will have to go too, [Inj. won’t you?] | 

3. But he has got a big mouth (DO), [Inj. hasn’t he, now [Inj]?] | 

4. “You are real (PA), [Inj. aren’t you?]” | 

5. I likes thee (DO) wonderful, | an’ so does th’ robin, [Inj. I do believe!] | 

6. Th’ world’s all fair begun again this mornin’ [NuA], [Inj. it has]. | 

7. Oh [Inj], you are Roach (PN), [Inj. are you?] | 

8. Eh! [Inj] he is a good little chap (PN) -- [Inj. Jump is!] | 

9. That’s a very old tree (PN) {over there}, [Inj. isn’t it?] | 

10. “My word [Inj] !” [Inj. he said,] “he’s got a fine lordly way (DO) {with him}, [Inj. hasn’t he?] | 

Lesson 13 – Preposition or Subordinate Conjunction?

[http://kissgrammar.org/kiss/wb/LPlans/WB_L2_2_2_PP_or_SC.htm]
Directions: 

1. Place parentheses ( ) around each prepositional phrase.

2. Underline every finite verb twice, and every subject once, and label complements (PA, PN, IO, DO).
3. Label every verbal “V,” its function, and its complement by type.
4. Put brackets around each subordinate clause. Draw an arrow from adjectival and adverbial clauses to the word they modify, and label the function of noun clauses.

5. Put a vertical line after each main clause.
Ex. 13 – Twelve Sentences [AK] Skip?
1. {In order} to face [V Inf. Adj. To “order”] your problems (DO), you first have to come face [NuA] {to face} {with reality}. |
2. Fall [NuA] {to fall}, all the leaves {in my garden} seem to fall [V Inf. Adv. to “seem”]. |
3. {As a member} {of the band}, you have to march {in every holiday parade} {from November} {to March}. |
4. {In the days} {of the wild, wild west}, you had to dodge real bullets (DO) [Adv. (time) to “had to dodge” when you went {to Dodge}]. |
5. Dust [NuA] {to dust}, ashes [NuA] {to ashes}, Oh [Inj], Lord [DirA], *You* please tell me (IO) [DO I don’t have to dust {in heaven}]. |
6. To jail [V Inf. Subj.] or not to jail [V Inf. Subj.] the suspect (DO) was a tough decision (PN) {for the judge}, | but eventually he ruled to send [V Inf DO] the man (DO) {to jail} {until the preliminary trial}. | 

7. They haven’t eaten {since breakfast}. |
8. They have had nothing (DO) to eat [V Inf. Adj. to “nothing”] [Adv. (time) to “have had” since they had breakfast (DO)]. |
9. Karen was late {because of her brother}. |
10. Roberta won the race (DO) [Adv. (cause) to “won” because she practiced a lot [NuA]]. |
11. My mother made supper (DO) [Adv. (time) to “made” after she returned {from [OP where she works]}]. |
12. My brother played baseball (DO) {with us} [Adv. (time) to “played” when he got home [NuA] {from work}]. |
Lesson 14 Embedded Subordinate Clauses

[http://kissgrammar.org/kiss/wb/LPlans/WB_L3_1_3_SubCl_Embed.htm]
Directions for the exercises in this lesson:

1. Place parentheses ( ) around each prepositional phrase in the following sentences. 

2. Underline every finite verb twice, its subject once, and label any complements. 
3. Label every verbal “V,” its function, and its complement by type.
4. Place brackets [ ] around each subordinate clause. Indicate the function of the clause by drawing an arrow from the opening bracket of adjectival and adverbial clauses to the word that each modifies. Label the function of noun clauses (DO, OP, etc.) above the opening bracket. 

5. Put a vertical line after each main clause. 

Ex.14 a -From Sherwood Anderson’s “The Egg” [AK]

1.) Joe Kane decided [DO of “decided” that the man [Adj. to “man” who confronted him (DO)] was mildly insane (PA) but harmless (PA).] | 

2.) He was angry (PA) [Adv. to “was” because his visitor did not watch him (DO) [Adv. to “did not watch” as he began to do [V Inf. DO #1] his trick (DO)]], but nevertheless went cheerfully to work [#2]. | 

1. Alternatively, “to do” can be considered as part of the finite verb phrase.

2. “To work” is most easily explained as an infinitive that functions as an adverb (manner) to “went,” but it also can be explained as a prepositional phrase, depending on whether one reads “work” as a verb or as a noun.

3.) It is a hopeful literature (PN) and declares [DO of “declares” that much may be done (P) {by simple ambitious people} [Adj. to “people” who own a few hens (DO).]] | 
4.) Father made a last desperate effort (DO) to conquer [V Adj. to “effort” #3] the egg (DO) and make [V Adj. to “effort” #3] it [#4] do [V Inf. DO #4] the thing (DO) [Adj. to “thing” that would establish his reputation (DO) {as one} [Adj. to “one” who knew how (DO) to entertain [V Inf. Adj.] guests (DO) [Adj. to “guests” who came {into his restaurant}.]]] | 

3. “To conquer,” and the following “make” can be explained as adjectives to “effort” and/or adverbs to “made,” depending on whether one sees them as describing the “effort” or giving the cause for “made.” 

4. “It” is the subject of the infinitive “do,” and “thing” is its direct object. The infinitive phrase is the direct object of “make.” 

5.) He had some sort (DO) {of notion} [Adj. to “notion” that [Adv. to “would be made” if he could but bring {into henhood or roosterhood} a five-legged hen (DO) or a two-headed rooster (DO)] his fortune would be made (P).] | 

6.) I fell {into a half-sleeping, half-waking state} and dreamed [DO of “dreamed” I was a tiny thing (PN) going [V Give Adj. to “thing”] {along the road} {into a far beautiful place} [Adj. to “place” where there were no chicken farms (PN)] and [Adj. to “place” where life was a happy eggless affair (PN).]] | 

Ex. 14 b – From The Master of Ballantrae [AK] Skip?
1. The uneasiness {upon my spirit} was that day [NuA] so great (PA) [Adv. (result) to “so” that I must burst {through the thickets} {to the edge} {of [OP what they call the Craig Head (DO)]}]. | 

2. I think [DO my old years will flow more smoothly], and [DO my white hair will lie quieter {on the pillow}, [Adv. to “will flow” and “will lie” when the debt is paid (P)]]. | 

3. She broke out and blamed my lord (DO) {for his unnatural words}, and Mr. Henry (DO) [Adv. (cause) to “blamed” because he was sitting there {in safety} [Adv. (time) to “was sitting” when his brother lay dead (PA) [#1] ]], and herself (DO) [Adv. (cause) to “blamed” because she had given her sweetheart (IO) ill words (DO) {at his departure}, calling [V Ger. NuA] him [S] *to be* [V Inf. DO] the flower (PN) [#2] {of the flock}, wringing [V Ger. NuA] her hands (DO), protesting [V Ger. NuA] her love (DO), and crying [V Ger. NuA] {on him} {by his name} - [Adv. (result) to the preceding gerundives so that the servants stood astonished (P) [#3] ]]. | 

	This sentence is an excellent example of “parallel constructions.” The term means that equal ideas are put into identical constructions. (The “Ideal Books” already have several exercises on this, and many more will be added.)

In this sentence, she blamed “my lord,” “Mr. Henry,” and “herself.” The first of these is modified by a “for” prepositional phrase, and the last two are modified by “because” clauses. Her blaming herself is explained by four gerunds that function as Nouns Used as Adverbs—“calling,” “wringing,” “protesting,” and “crying”  


1. KISS avoids the unresolved question of which verbs are “linking” and which are not by explaining constructions such as this one as “palimpsest patterns.” See KISS Level 2.1.4. In this case, “lay” would be written over “was.”
2. KISS explains “flower” as a predicate noun after an ellipsed *to be*, the subject of which is “him.” This infinitive phrase functions as the direct object of the gerund “calling,” which functions as an adverb “Hands” is the direct object of the gerund “wringing,” and “love” is the direct object of “protesting.” “Crying” is also a gerund functioning as a Noun Used as an Adverb. 

3. This is another palimpsest pattern with “stood” written over “were.” 

4. All {of a sudden}, {on a still day} {of [OP what [#4] they call the Indian summer (DO)]}, [ [#5] when the woods were changed (P) {into gold and pink and scarlet}], the Master laid down his needle (DO) and burst {into a fit} {of merriment}. | 

4. Technically, “what” here functions simultaneously as the subordinating conjunction and as a predicate noun (or the subject) of an ellipsed infinitive. (“They called what to be the Indian summer,” or “They called the Indian summer to be what.”) The ellipsed infinitive construction is the direct object of “call.” At this point in students’ work it is probably not worth the time it takes to go through this detailed explanation. 

5. Note how this clause can be seen as an adjective modifying “Indian summer,” and thus as being embedded in the “what” clause within the prepositional phrase. Or it can be seen as modifying “day,” and thus not within the prepositional phrase.

Lesson 15 – Adding Delayed Subjects and Sentences
[http://kissgrammar.org/kiss/wb/LPlans/WB_L5_6_Delayed_S.htm]
Directions for the exercises in this lesson:

1. Place parentheses ( ) around each prepositional phrase in the following sentences. 

2. Underline every finite verb twice, its subject once, and label any complements. 
3. Label every verbal “V,” its function, and its complement by type.
4. Place brackets [ ] around each subordinate clause. Indicate the function of the clause by drawing an arrow from the opening bracket of adjectival and adverbial clauses to the word that each modifies. Label the function of noun clauses (DO, OP, etc.) above the opening bracket. Label Delayed Subjects “DS.”
5. Put a vertical line after each main clause. 
Ex. 15 a - From The Master of Ballantrae [AK]
1. [[#1] Where he stumbled], it is highly possible (PA) [DelSubj that another man should fall]. | 

That another man should fall where he stumbled is highly possible.
1. This adverbial clause can be seen as modifying “is,” “highly,” and/or “possible.” In the revised version, it is adverbial to “should fall.”
2. It seems hard (PA) to say [V Inf DelSubj #2] why (DO), | but I could not burst in {on the old man} [Adv. to “not” as I could {on the young woman}]. | 

To say why seems hard, but I could not burst in on the old man as I could on the young woman. 

Why seems hard to say, but I could not burst in on the old man as I could on the young woman. 

But why I could not burst in on the old man as I could on the young woman seems hard to say.
2. One way of explaining this is to consider “why” the direct object of the infinitive “to say” and to consider the infinitive phrase as the delayed subject. But as the options below it suggest, there are different ways of viewing the delayed subject, including considering the entire following main clause as the subject of “seems hard to say.” 

3. It was there [DS [#3] he was picked up (P) {by Captain Crail}]. | 

There he was picked up by Captain Crail.
3. This clause can be explained, as the sentence below it shows, as a delayed sentence. 

4. “It is more {to the purpose} (PA) [#4] to consider [V Inf DelSubj] our own behaviour (DO) ,” [Inj. [#5] said I]. | 

"To consider our own behaviour is more to the purpose," said I.
4. Alternatively, “to the purpose” could be considered as functioning as an adverb. 

5. See KISS Level 3.2.3 - Interjection? Or Direct Object? 

5. It is one (PN) {of the worst things} {of sentiment}, [DelSubj. that the voice grows to be [V Inf. Adv. (how?) to “grows”] more important [PA after “to be”] {than the words},] and [DelSubj.*that* the speaker *grows to be [V Inf. Adv. (how?) to “grows”]  more important[PA after “to be”] * {than that} [Adj. to "that" which is spoken (P) ]]. | 

That the voice grows to be more important than the words, and the speaker than that which is spoken is one of the worst things of sentiment.
6. It is [PN since I found [DO you had designs (DO) {upon my own}]] [DelSubj. that I have shown you (IO) most respect (DO)]. | 

I have shown you most respect since I found you had designs upon my own.
7. It was the husband (PN) [DS who was shut (P) out]. |
Who was shut out was the husband.

The husband was shut out.

8. I supposed [DO it was some trip (PN) {of his own} [DelSubj that Mr. Henry was dissembling]].

I suppose that Mr. Henry was dissembling some trip of his own.

Ex. 15 b - from The Master of Ballantrae [AK] Skip?
1. It will seem even strange (PA) {to you} [DS that I should love him (DO)]. | 

That I should love him will seem even strange to you.
2. It came {upon me} {in a kind} {of vision} [DS how hugely I had overrated the man's subtlety (DO)]. | 

How hugely I had overrated the man’s subtlety came upon me in a kind of vision.
3. It will be gathered (P) {from so much familiar talk}, and {*from* so much patience} {on both sides}, [DS that we now lived together {upon excellent terms}]. | 

That we now lived together upon excellent terms will be gathered from so much familiar talk, and so much patience on both sides.
4. We laboured all day [NuA], | and it is doubtful (PA) [DS if we made two miles [#1]]. | 

We laboured all day, and if we made two miles is doubtful.
1. “Made” here means “traveled,” so “two miles” indicates how far they went. Thus “miles” is a noun used as an adverb.
5. {At least} it was {in the course} {of our revelry} [DS that we made the acquaintance (DO) {of a spirited youth} {by the name of Chew}]. |
At least we made the acquaintance of a spirited youth by the name of Chew in the course of our revelry.

6. It was an effect (PN) {of devilish malice} {in the master} [DS that he addressed Mr. Henry (DO) alone {upon the matter} { of his demands}]. |
That he addressed Mr. Henry alone upon the matter of his demands was an effect of devilish malice in the master.

7. It was openly understood (P) [DS that we should then break up and go and squander our proportions (DO) {of the spoil}]. |
That we should then break up and go and squander our proportions of the spoil was openly understood.

8. How very desirable (PA) it is [DS that no word {of it} should reach my daughter (DO)]. |
That no word of it should reach my daughter is very desirable.

Ex. 15 c - From The Master of Ballantrae [AK] Skip?
1. It was impossible (PA) even to have [V Inf. DelSubj] a guess (DO) [Adj. to "guess" {in what direction} we were moving]. | 

Even to have a guess in what direction we were moving was impossible.
1. “Guess” is the direct object of the infinitive “to have.” The infinitive phrase functions as a delayed subject. Note that “even” functions as an adverb to the infinitive. 

2. It would be easy (PA) to make [Inf. DS] too much (DO) {of this division}. | 

To make too much of this division would be easy.
3. [Adv. to the second "was" Weary (PA) as I was {with watching [V Ger OP]} and {*with* distress} {of mind}], it was impossible (PA) {for me} to sleep [V Inf DS]. | 

Weary as I was with watching and distress of mind, to sleep was impossible for me.
4. {At that very time} he passed the greater portion (DO) {of his days} {in slumber}, [Adj. to "slumber" {from which} it was often difficult (PA) to rouse [V Inf. DS] him (DO)]. | 

At that very time he passed the greater portion of his days in slumber, from which to rouse him was often difficult.
5. It is my purpose (PN) to employ [Inf. DS] you (DO) a good deal [NuA]. |
To employ you a good deal is my purpose.

6. To prove [V Inf. Adv. (purpose) to “needful”] friendship (DO) {on our part}, it was needful (PA) to draw [V Inf. DS] {upon our stock} {of rum}. |
To draw upon our stock of rum was needful to prove friendship on our part.
7. It is idle (PA) to deny [V Inf. DS] it (DO). |
To deny it is idle.
8. It was our design (PN) to mount [V Inf. DS] the headwaters (DO) {of the Hudson}, {to the neighborhood} {of Crown Point}, [Adj. to “Crown Point” where the French had a strong place (DO) {in the woods}, {upon Lake Champlain}. |
To mount the headwaters of the Hudson, to the neighborhood of Crown Point, where the French had a strong place in the woods, upon Lake Champlain was our design.

Lesson 16 - The Logic of Subordinate Clauses
[http://kissgrammar.org/kiss/wb/LPlans/WB_Logic.htm]
Notes for Teachers

“Ugh, logic!” So wrote a contributor to the NCTE-Talk discussion list. I can understand what might have been the reason behind the comment. College courses often “introduce” students to a field of study by focusing on what interests the instructor, and not on what the students need. Logic can become extremely complex. But it need not be, and it should not be for beginners. Indeed some basic logic was taught for decades in the grammar books that explained the various types of adverbial clauses—time, space, cause, purpose, result, manner, etc. I was deeply shocked and saddened when I heard a member of the NCTE Assembly for the Teaching of Grammar state that there is no need for students to learn these types of clauses. There is a need, a very desperate need.

Over the years, I have heard numerous college instructors complain that students answer every question as if it were a “What?” question. Instructors ask why (cause) something happened, and students respond with what (identity) happened. Instructors ask how (manner) something is done, and students explain what (identity) is done, but not how. This is not only basic logic, but it is a fundamental problem for instructors, students, and society as a whole. 

There are many ways in which logic can be integrated into the teaching of grammar. I love David Hume’s three primary distinctions (identity, extension in time or space, and cause/effect) because they are very simple and extremely powerful. Students will probably be able to look at any modification relationship and intelligently discuss it in terms of these three categories. The KISS instructional material includes the traditional types of adverbial clauses within the framework of Hume’s categories. 

The amount of time you spend on these logical connections is, of course, optional, but I would strongly suggest that you at least introduce your students to these exercises. And I emphasize the “introduce.” Remember, KISS teaches students to analyze real, randomly selected texts. With the exception of adverbial clauses of manner and concession, the logical concepts used in KISS should be fairly easily understood by most students—the logical relationships of time, space, cause, effect, purpose, condition, and comparison are fairly easily perceived. What the students need is for someone to bring the logic to their attention.

But to analyze real texts, students need to think about what sentences mean. For example, “If he wins, I’ll win a bet” includes a clear “if” clause of condition. But in real texts, you may find this written as “Should he win, I’ll win a bet.” In that format, there is no subordinating conjunction, so some students may have problems even in identifying the subordinate clause. Fortunately, the “should he win” format is relatively rare. Trying to introduce students to all of these rarities at this point in their work will only confuse them, so expect students to have problems. 

Directions for the exercises in this lesson: 

1. Analyze the sentences for the constructions that you have learned thus far.

2. Above the bracket for each subordinate clause write the type of the logical connection between it and what it modifies. Begin by determining the type of the subordinate clause (noun, adjective, or adverb). Then use the following: 

For Noun Clauses—“ID” (for “Identity”) plus their function, for example, “ID, DO”

For Adjectival Clauses—ID” plus the word that the clause modifies 

For Adverbial Clauses—Use one of the following plus the word that the clause modifies.

	Time
	C/E - result
	C/E - condition

	Space
	C/E - purpose
	C/E - concession

	C/E - cause
	C/E - manner
	Comparison


Ex. 16 a- From The Secret Garden (#1) [AK] Skip?
1. You won’t see much (DO) [Adv. (C/E - cause) to “won’t” because it’s a dark night (PN)]. | 

2. He was not working [Adv. (Space) to “was not working” where she had left him (DO)]. | 

3. That is the garden (PN) [Adj. (ID) to “garden” where Ben Weatherstaff works]. | 

4. She could never have done it (DO) [Adv. (C/E - condition) to “never” if Misselthwaite had been {like other big houses} (PA)]. | 

5. He was so startled (P) [Adv. (C/E - result) to “so” that he almost jumped back]. | 

6. [Adv. (time) to “lay” and “stared” When she awakened] she lay and stared {at the wall}. | 

7. She was glad (PA) [Adv. (C/E - cause) to “glad” that there was grass (PN) {under her feet}] and [Adv. (C/E - cause) to “glad” that her steps made no sounds (DO)]. | 

The grass under her feet and the lack of sound made her glad.
8. I am your guardian (PN), [Adv. (C/E - concession) to “am” though I am a poor one (PN) {for any child}]. | 

The prepositional phrase “for any child” can be connected (by a perceiver’s mind) to the sentence in at least three different ways. It can be processed as an adverb to “am” or as an adverb to “poor.” It could also be viewed as an adjective to “one” (which is modified by “poor”). 

9. Mary knew the fair young man (DO) [Adj. (ID) to “man” who looked {like a boy}]. | 

10. The gray rain-storm looked [Adv. (C/E - manner) to “looked” as if it would go on forever and ever]. | 

Seeing “manner” as a cause/effect may be questionable. Hume based his ideas on Aristotle’s explanation of “cause.” For Aristotle, “how” something is (or in this case “looked”) is a cause of what it is.
11. Dickon tried to modify [V Inf. DO] his dialect (DO) [Adv. (C/E - purpose) to “tried” so that Mary could better understand]. | 

12. He looked taller (PA) [Adv. (Comparison) to “taller” than he had ever looked before] -- inches [NuA] taller. | 

This “taller” is an appositive to the previous one. See KISS Level 5.4 - Appositives. 
Ex. 16 b - From The Secret Garden (#2) [AK] Skip?
1. But just [Adv. (time) to “asked” before Martha went down-stairs [NuA] {for the tea-tray}], Mary asked a question (DO). | 

The adverb “just” modifies the entire “before” clause. (Note that this sentence begins with “But.”)

2. He was not working [Adv. (space) to “not” where she had left him (DO)]. | 

3. She spoke {to him} (IO) a little [NuA] stiffly [Adv. (C/E - cause) to “stiffly” because she felt rather shy (PA)]. | 

For “shy” as a predicate adjective, see “Palimpsest Patterns.”

4. She was so happy (PA) [Adv. (C/E - result) to “so” that she scarcely dared to breathe [V Inf. DO]]. | 

5. The time had come [Adj. (ID) to “time” when Mary had forgotten to resent [V Inf. DO] Martha’s familiar talk (DO)]. | 

6. [Adv. (C/E - condition) to “more” If Martha had been a well-trained fine young lady’s maid (PN)] she would have been more subservient (PA) and respectful (PA). | 

7. She was afraid (PA) [Adv. (C/E - cause) to “afraid” that he would pick up his tools (DO) and go away]. | 

The “that” clause explains the cause of her fear.
8. The first man [Adj. (ID) to “man” who came in] was a large officer (PN). | 

9. But [Adv. (C/E - concession) to “was” though several times [NuA] she saw Ben Weatherstaff (DO) {at work}] he was too busy (PA) to look [V Inf. Adv to “too”] {at her} or was too surly (PA). | 

The concession is that since she saw him several times, one would have expected him to look at her and talk.
10. She would always carry the key (DO) {with her} [Adv. (time) to “would carry” when she went out], [Adv. (C/E - purpose) to “would carry” so that [Adv. (C/E - condition) to “would be” if she ever should find the hidden door (DO)] she would be ready (PA)]. | 

11. He understood [DO what (DO) Colin felt] better [Adv. (Comparison) to “better” than Colin did himself]. | 

“Himself” is an appositive to “Colin.” See KISS Level 5.4.
Lesson 17 –Subordinate Clauses – Logic and Focus

[http://kissgrammar.org/kiss/wb/LPlans/WB_Logic.htm]
Ex. 17 a Five Topics [AK Possible Versions] Skip?
The most important purpose of this exercise is to help students see that a draft sentence is not set in concrete.
1. Rose Valley Lake is a picturesque lake. It is nestled in a lovely valley in North Central Pennsylvania. 

a. [focus on “picturesque lake”; logical connection = identity] 

Rose Valley Lake is a picturesque lake (PN) [Adj. to “lake” that is nestled (P) {in a lovely valley} {in North Central Pennsylvania}]. |
b. [focus on “is nestled”; logical connection = identity] 

Rose Valley Lake, [Adj. to “Rose Valley Lake” which is picturesque (PA)] is nestled {in a lovely valley} {in North Central Pennsylvania}. |
2 Alice Turner brings her 1993 Ford Escort to the dealership for service and repair. Every time she leaves the service department, the seats and interior are as clean and untouched as she had left them. 

a. [focus on “brings”; logical connection = cause 

Alice Turner brings her 1993 Ford Escort (DO) {to the dealership} {for service and repair} [Adv. (cause) to “brings” because every time [NuA] [Adj. to “time” she leaves the service department (DO)], the seats and interior are as clean (PA) and untouched (PA) [Adv. (comparison) to the previous “as” as she had left them (DO)]]. |
b. [focus on “are as clean”; logical connection = result

Every time [NuA] [Adj. to “time” Alice Turner leaves the service department (DO)], her car’s seats and interior are as clean (PA) and untouched (PA) [Adv. (comparison) to the previous “as” as she had left them (DO)] [Adv. (result) to “are as clean” so she brings her 1993 Ford Escort (DO) {to the dealership} {for service and repair}]. |
3. The Richards Clothing Company has everything you need to fill your closet for the up and coming season. They definitely know how to please their customers.

a. [focus on “know”; logical connection = identify] 

The Richards Clothing Company, [Adj. which has everything (DO) [Adj. to “everything” you need to fill [V Adv. (purpose)] your closet (DO) {for the up and coming season}]], definitely knows how (DO) to please [V Inf. Adj to “how”] their customers (DO). |
b. [focus on “know”; logical connection = cause/effect]

The Richards Clothing Company definitely knows how (DO) to please [V Inf. Adj to “how”] their customers (DO) [Adv. (cause) to “knows” because it has everything (DO) [Adj. to “everything” you need to fill [V Adv. (purpose)] your closet (DO) {for the up and coming season}]]. |
Ex. 17 b – “Alicia” [AK] Skip?
Version A

A. In spite of her many problems, Alicia won the contest for Prom Queen. 

1. Her boyfriend, Ralph, [who almost missed the deadline for nominating her,] had lots of influence as the captain of the football team. 

2. All of his teammates promised to vote for Alicia, and [although some of them never got around to voting at all,] most of them did.
3. [While the basketball players originally supported one of Alicia's rivals,] they eventually gave their votes to Alicia. 

4. [When Alicia had trouble raising enough money for her campaign,] her sorority sisters came to her rescue. 

5. Trudy, [who came down with the flu halfway through the campaign,] was Alicia's campaign manager, and she did a terrific job; however, she. 

6. [After the ballots were counted and re-counted,] they clearly gave Alicia the title of Prom Queen. 

7. [Although Alicia experienced many trying times,] she finally became the new Queen. 

Version B

Subordinating conjunctions: after, although, as, because, before, if, since, when, where, while, that, what, who, how, why, which, until, whenever, wherever, whatever, whoever, whichever, whether, for, and so
Alicia, who won the contest for Prom Queen, had to overcome many problems. 

1. Her boyfriend, Ralph, [who had lots of influence as the captain of the football team,] almost missed the deadline for nominating her. 

2. [Although all of his teammates promised to vote for Alicia], and [most of them did,] some of them never got around to voting at all. 

3. The basketball players [who eventually gave their votes to Alicia] originally supported one of Alicia's rivals.
4. [Before her sorority sisters came to her rescue,] Alicia had trouble raising enough money for her campaign. 

5. [While Trudy was Alicia's campaign manager and did a terrific job,] she came down with the flu halfway through the campaign. 

6. The ballots [that clearly gave Alicia the title of Prom Queen] were counted and re-counted. 

7. [Before she finally became the new Queen,] Alicia experienced many trying times. 

Lesson 18 – Adding Appositives and Post-Positioned Adjectives
[http://kissgrammar.org/kiss/wb/LPlans/WB_L5_4_Appositives.htm]

[http://kissgrammar.org/kiss/wb/LPlans/WB_L5_5_PPA.htm]
Directions for the exercises in this lesson:

1. Place parentheses ( ) around each prepositional phrase. 

2. Underline every finite verb twice, its subject once, and label any complements. 
3. Label every verbal “V,” its function, and its complement by type.
4. Place brackets [ ] around each subordinate clause. Indicate the function of the clause by drawing an arrow from the opening bracket of adjectival and adverbial clauses to the word that each modifies. Label the function of noun clauses (DO, OP,  etc.) above the opening bracket. Label Delayed Subjects “DS.”
5. Label appositives “App” and Post-Positioned Adjectives “PPA.” Draw an arrow from the label to the word they chunk to.

6. Put a vertical line after each main clause. 

“The Lost Phoebe” is a wonderful story to have students write about. The text is on the KISS website.

Ex. 18 a - From “The Lost Phoebe” by Theodore Dreiser (#1) [AK]
1. Old Henry drove {to Swinnerton}, the neighboring town [App to “Swinnerton], and procured a doctor (DO). | 

2. {As a matter} {of fact}, they had aged synchronously {with the persons} [Adj. to “persons” who lived here, old Henry Reifsneider and his wife Phoebe Ann]. | 

“Henry Reifsneider” and “wife” are appositives to “who,” which refers to “persons.” “Phoebe Ann” is an appositive to “wife.” 

3. Her idea was to take [V Inf. PN] counsel (DO) {with Jake}, “her man [App],” and perhaps have [V Inf. PN] him [S] notify [V Inf. DO] the authorities (DO). | 

“Have” has to be an infinitive that is joined to “to take” by the “and.” Because of that “and,” the “to” before “have” is ellipsed. 

“Him” is the subject of the infinitive “notify,” and “authorities” is its direct object. The infinitive phrase functions as the direct object of “have.”

4. He was a thin old man (PN), seventy [PPA] [Adv. to “seventy” when she died], a queer, crotchety person [App to “man”] {with coarse gray-black hair and beard}, quite straggly [PPA to “hair” and “beard”] and unkempt [PPA to “hair” and “beard”]. | 

5. The old-fashioned four-poster bed, {with its ball-like protuberances and deep curving incisions}, was there also, a sadly alienated descendant [App to “bed”] {of an early Jacobean ancestor}. | 

6. {Near a little town} called Watersville, {in Green County}, perhaps four miles [NuA] {from that minor center} {of human activity}, there was a place (PN) or precipice (PN) locally known {as the Red Cliff}, a sheer wall {of red sandstone}, perhaps a hundred feet [NuA] high [PPA to “wall”], [Adj. to “wall” which raised its sharp face (DO) {for half a mile or more} {above the fruitful corn-fields and orchards} [Adj. to “corn-fields” and “orchards” that lay beneath]], and [Adj. to “wall” which was surmounted (P) {by a thick grove} {of trees}]. | 

“Watersville” is a retained predicate noun after the passive gerundive “called.” “Called” modifies “town.” 

“Known” is a gerundive (verbal adjective) to “place” and “precipice.” 

“Wall” is an appositive to “Red Cliff,” and ultimately to “place” and “precipice.” 

Ex. 18 b - From “The Lost Phoebe” [AK] Skip?
1. “Phoebe who? What Phoebe?” (DO) replied Mrs. Race, curious [PPA] {as to this sudden development} {of energy} {on his part}. | 

2. The annual keep {of pigs} had been reduced (P) {from five} {to one grunting porker}, | and the single horse [Adj. to “horse” which Henry now retained] was a sleepy animal (PN), not over-nourished [PPA] and not very clean [PPA]. | 

This “which” functions simultaneously as the subordinating conjunction and the direct object of “retained.” 

3. They were well-known (PA) {for a distance} {of as much} {as ten square miles} {as old Mr. and Mrs. Reifsneider}, honest [PPA], moderately Christian [PPA], but too old [PPA] to be [V Inf.] really interesting (PA) any longer. | 

“Interesting” is a predicate adjective after the infinitive “to be.” The infinitive phrase functions as an adverb to “too,” and “too” chunks to “old.” 

4. The picket-fence {in front}, {with its gate squeaky and askew}, and the side fences {of the stake-and-rider type} were {in an equally run-down condition}. | 

Notes

The function of “squeaky” and “askew” can be explained in two ways, depending on what one considers to have been ellipsed. If we read it as “gate which was squeaky and askew,” then “squeaky” and “askew” are post-positioned adjectives. But we could also read this as “gate being squeaky” and “askew,” which would make the entire construction a noun absolute that functions as the object of the preposition “with.”
5. {In his fevered state} he fancied [DO that he could see the very eyes (DO) {of her}, not [Adv.  as [#1] she was [Adv. to “was” when he last saw her (DO) {in the black dress and shawl}]] but now a strangely younger Phoebe [App #2], gayer [PPA], sweeter [PPA], the one [App to “Phoebe”] [Adj. to “one” whom [#3] he had known years [NuA] before [#4] {as a girl}]]. | 

This “as” clause modifies “not.” The “not” is a partial modifier of “could see,” distinguished from the later “but now.” 

2. This “Phoebe” is an appositive to the “her” in “eyes of her.” 

3. “Whom” is simultaneously the subordinating conjunction and the direct object of “had known.” 

4. “Before” can be explained as an adverb that modifies the adverbial function of “years,” or it can be explained as a preposition with its object ellipsed (“before this”). The prepositional phrase modifies “years.”

Lesson 19 - Passive Voice
[http://kissgrammar.org/kiss/wb/LPlans/WB_L5_7_Passive.htm]
Directions: 

1. Put parentheses ( ) around each prepositional phrase.

2. Underline subjects once, finite verbs twice, and label complements.

3. Label every verbal “V,” its function, and its complement by type.
4. Place brackets around each subordinate clause. And indicate their functions.

5. Put a vertical line at the end of every main clause. 

6. Put a “P” above each passive verb. 
Ex. 19 a - From Sherwood Anderson’s “The Egg” [AK] Skip?
Tell the students that they are expected to have trouble with the complements of passive verbs. 

1. My father was, [Inj. I am sure (PA)], intended (P) {by nature} to be [V Inf. RDO #1] a cheerful, kindly man (PN). | 

1. The infinitive phrase functions as a retained direct object after the passive “was intended.” (The active voice version would be “Nature intended my father to be a cheerful, kindly man.” See “Retained Complements - Infinitives.”
2. Most philosophers must have been raised (P) {on chicken farms}. | 

3. I had {at that time} already begun to read [V Inf. DO] books (DO) and have notions (DO) {of my own}. | [trick question?]
4. It was not written (P) {for you}. | 

5. Joe was left (P) alone {in the restaurant} {with father}. | 

6. They were preserved (P) {in alcohol} and put (P) each [App. #2] {in its own glass bottle}. | 

2. “Each” is an appositive to “They.” Its function is to break the plural “They” into individual things. 

7. Songs were sung (P) | and glasses *were* [#3] thumped (P) {on the bar}. | 

3. The “were” carries across the clause boundary. This is a rhetorical device called “prozeugma.” See KISS Level 3.2.1 - Ellipsis in Clauses. 

8. {After a second bath} {in the hot vinegar} the shell {of the egg} had been softened (P) a little [NuA] but not enough {for his purpose}. | 

9. His visitor was made (P) a little [NuA] ill (RPA) [#4] {by the sight} {of the body} {of the terribly deformed bird} floating [V Give. Adj. to “body”] {in the alcohol} {in the bottle} and got up to go [Inf. Adv.(purpose) to “to go”]. | 

4. “Ill” is retained from the active “The sight made the visitor to be ill.” (See Note 1.)

10. The wagon [Adj. to “wagon” that contained our goods (DO)] had been borrowed (P) {for the day} {from Mr. Albert Griggs}, a neighbor [App.]. | 

Ex 19 b - From Rip Van Winkle [AK] Skip?
B. Passive to Active
1. Was he carried (P) away {by the Indians}? | 

Did the Indians carry him away?
2. {From even this stronghold} the unlucky Rip was {at length} routed (P) {by his termagant wife}. | 

From even this stronghold his termagant wife at length routed the unlucky Rip.
3. The poor fellow was now completely confounded (P) {by something}. | 

Something now completely confounded the poor fellow.
4. Old Peter Vanderdonk was seen (P) slowly advancing [V Ger. NuA] {up the road}. | 

They saw old Peter Vanderdonk slowly advancing up the road.
5. [Adv. to "still" But however his memory may be appreciated (P) {by critics}], it is still held (P) dear [#1] {by many folks}. | 

But however critics may appreciate his memory, many folks still hold it dear.

1. In the active voice version, KISS explains “it dear” as an ellipsed infinitive construction—“it to be dear.” That makes “it” the subject, and “dear” a predicate adjective to the ellipsed “to be.” The infinitive phrase functions as the direct object of “hold.” See “Ellipsed Infinitives” in KISS Level 4. In the passive voice version, the “it” becomes the subject of the finite verb and the “dear” is a retained predicate adjective. See KISS Level 5.7 - Passive Voice and Retained Complements. 
B. Active to Passive
1. [Adv. (condition or time) to "shook," "shrugged" and "cast" Whenever someone mentioned her name (DO)], however, he shook his head (DO), shrugged his shoulders (DO), and cast up his eyes (DO). | 

Whenever her name was mentioned, however, he shook his head, shrugged his shoulders, and cast up his eyes.
2. {Over the door} someone had painted, “The Union Hotel, {by Jonathan Doolittle}.” [#2] | 

Over the door was painted, "The Union Hotel, by Jonathan Doolittle."
2. The entire quotation is a title and thus the direct object of “had painted.” 

3. A cocked hat decorated the head (DO). | 

The head was decorated with a cocked hat.
4. Someone employed him (DO) to work [V Inf. Adv. (purpose to “employed”] {on the farm}. | 

He was employed to work on the farm.
5. Some say [DO soldiers killed him (DO) {at the storming} {of Stony-Point}] | —others say [DO he drowned {in a squall} {at the foot} {of Antony’s Nose}]. | 

Some say he was killed at the storming of Stony-Point—others say he was drowned in a squall at the foot of Antony’s Nose.
Stylistics

A Focus on Punctuation and Errors
Lesson 20 – The Logic of Compound Main Clauses

[http://kissgrammar.org/kiss/wb/LPlans/WB_L3_1_1_CMC.htm]
Notes for Teachers

Few professional writers studied the use of semicolons, colons, and dashes; they absorbed the “norms” from their reading. Because they read different writers, their norms are more or less the same. Therefore the actual use of these punctuation marks is much more complex than the instructional material given here suggests. The “Grade-Level” books, and the “‘Ideal’” Sequence are both spread over several years and include numerous exercises on this topic that get into variations. Many of these can also be found in the “Master Collection.” 

You can, of course, let the students ignore the syntactic analysis and just do the punctuation.

Ex. 20. a - Interesting Quotations [AK] Skip?
The objective of this assignment is not so much to have students get the “right” answer as it is to have the students consider the general norms and explore the question. Thus, for many sentences, responses may differ. (Class discussion of exercises such as this helps students see where they all, or almost all, agree, and that there are cases on which they disagree.) 

Some of these quotations are good topics for a short (or long) writing assignment. (A longer one would be better if the students discuss it in class, so that they could respond to others’ opinions in their writing.)

1. An age builds up cities (DO); | an hour destroys them (DO). | 

Contrast -- Good / bad; build vs. destroy 

Yes
No 

2. *You* Never fear the want (DO) {of business} — | a man [Adj. to “man” who qualifies himself (DO) well {for his calling}] never fails {of employment}. | 

Amplification (informal style) No fear – if qualified 
Yes
No 

3. *You* Be patient (PA), my soul [DirA]: | Thou hast suffered worse [#1] {than this}. | 

Amplification (formal style) -- the second clause offers a reason for being patient. [Note that this is not really the general/specific relationship that is usually described in textbooks (assuming that the textbooks cover this question).] 
Yes?
No 

1. Alternatively, “worse” could be considered a pronoun, or an adjective modifying an ellipsed “things.” In either case it would then be the direct object of “hast suffered.” 

4. You think me [S] *to be* the child (PN) [#2] {of my circumstances}: | I make my circumstances (DO). | 

I see this as a contrast between what “you” see and what “I make.” [But I would not tell Emerson that he was wrong.] Yes
No 
2. “Child” is a predicate noun of an ellipsed infinitive to be, of which “me” is the subject. The ellipsed infinitive phrase “me to be the child” is the direct object of “think.” Don’t expect students to get this; I’d expect them to mark “me” as a direct object; but I’d praise those who wanted to explain “me the child” as the direct object.
5. Things do not change; | we change. | 

Contrast -- the rest of the world as compared to us; permanence vs. change. Yes
No 

6. You do not lead {by hitting [#3] [V Ger. OP] people (DO) } {over the head} -- | that’s assault (PN), not leadership (PN). | 

Reverse amplification (informal style) -- the specific statement in the first clause is generalized and named (“assault”) in the second. Yes?
No 

3. “People” is the direct object of the verbal (gerund) “hitting,” and the gerund phrase functions as the object of the preposition “by.”

Ex. 20 b – Four Sentences [AK] Skip?
1. More and more people are choosing to continue [V Inf. DO] their education (DO) {at colleges and universities} {around the world}. | —Some {of them} choose to stay [V Inf. DO] {on campus}, or close by [#1] | ; others decide to travel [V Inf. DO] larger distances (DO) daily to get [V Adv. (purpose) to “travel”] {to their destination}. | 
Reason: dash—First MC is general and the last two are specifics 
semicolon—contrast between “some” and “others” and between “close” and “distances”

1. If one wants to get technical, “by” is a preposition in an ellipsed phrase–“by the campus.”


2. We, [Adj. to “We” who have owned dogs (DO)], probably remember them (DO) {as pups}. | We took these cute and harmless animals (DO) {into our homes}. | ; many {of us} hunted {with them}. | 
Reason: A dash or colon is also acceptable here, but it would suggest that the last sentence explains the preceding one. A semicolon emphasizes the contrast between “cute and harmless” as opposed to “hunting” as well as a contrast between into the home as opposed to outside, A dash after “pups” would be interesting and suggest that the next two sentences amplify (add details) to the “remember them as pups.” That, however, raises a question – Did they hunt with them as pups? [Note again that the purpose of this type of class discussion is not to determine the correctness or incorrectness of these specific sentences, but rather to get students thinking about the logic of the punctuation marks.] 



3. What is the difference (PN) {between an amateur and a professional}? | The answer {to that} is easy (PA). | [: (or) —] A professional gets paid (P) to make [V Inf. DO] mistakes (DO). | 

Reason: Colon, formal amplification, or dash, informal amplification. The last sentence is equal to “The answer.”


4. The dog becomes much more (PN) [#2] {than a friend} {to some} | [; or : or–-] they affect the quality (DO) {of life} {for many} (IO) {of the disabled}. | 

Reason: The semicolon suggests a contrast between “friend” and “helper,” whereas
The formal colon or informal dash emphasizes the “more than.” 

2. Grammarians will probably disagree about the function of “more.” Some will see it as a predicate pronoun (making “much” an adjective), whereas others will see it as a predicate adjective (making “much” an adverb). As always in KISS, either explanation is acceptable.
Ex. 20 c - From Rip Van Winkle [AK] Skip?
The objective of these assignments is to have the students consider the logical implications. Styles have changed, but even older texts like this one often reflect current usage. 

1. The very village was altered (P) : | it was larger (PA) and more populous (PA). | 

Yes
No 
This fits current usage—the colon precedes a main clause that explains the first main clause in more detail.
2. He found the house (DO) gone [V Give to “house” #1] {to decay} | —the roof had fallen in, | the windows had shattered, | and the doors were {off the hinges}. | 

Yes
No 
The three clauses that follow the dash explain (amplify) the first main clause. For the ellipsis, see KISS Level 3.2.1 - Ellipsis in Clauses.
1. Most grammarians would consider “house” the direct object and “gone” an adjective to “house.” In KISS Level 5.8 (Noun Absolutes), many people may prefer to see “house gone” as the core of a noun absolute that functions as the direct object of “found.” 

3. “Oh [Inj], Brom Dutcher went off {to the army} {in the beginning} {of the war}; | some say [DO he was killed (P) {at the storming} {of Stony-Point}] | — others say [DO he was drowned (P) {in a squall} {at the foot} {of Antony’s Nose}]. | 

Yes
No
 In this sentence, the semicolon and dash appear to be just the opposite of current usage. Many modern writers would use a dash or colon where the semicolon is, and a semicolon between the “some” and “others” clauses to emphasize the contrast.
4. His familiar haunts had disappeared. | Strange names were {over the doors} | — strange faces were {at the windows} | — everything was strange (PA). | 

Yes
No
The first main clause ends in a period, and the dashes in the sentence slow the pace between individual but related amplifications.
5. They were dressed (P) {in quaint outlandish fashion} ; | some wore short doublets (DO), | others wore jerkins (DO), {with long knives} {in their belts}, | and most {of them} had enormous breeches (DO), {of similar style} {with that} {of the guide’s *style*}. | Their visages, too, were peculiar (PA) ; | one had a large head (DO), broad face (DO), and small piggish eyes (DO) ; | the face {of another} seemed to consist [V Inf. Adv. (manner) to “seemed”] entirely {of nose}, and was surmounted (P) {by a white sugar-loaf hat}, set [V Give. to “hat”] off {with a little red cock’s tail}. | 

Yes and No
There are two sentences, starting with—“They” and “Their visages.” In the first, Irving used a semicolon after the general idea (“fashion”), and used commas to separate the three clauses that give details. In the second sentence, the first main clause (“visages”) gives the general idea. It ends, however, with a semicolon, but the following two clauses give details (amplification). Those two clauses are also separated by a semicolon which would follow current norms in that the semicolon suggests the difference between the two examples of “visages.”
Lesson 21 - Main-clause Boundary Errors

[The multi-year KISS sequences do not include exercises on these errors, but focus on the norms for connecting main clauses. These exercises were made up for my students in the one-semester course.]
Comma-splices and Run-ons
Directions for Ex. 21 a: 
1. Place parentheses ( ) around each prepositional phrase in the following sentences. 

2. Underline every finite verb twice, its subject once, and label any complements.

3. Label every verbal “V,” its function, and its complement by type.
4. Place brackets [ ] around each subordinate clause. Indicate the function of the clause by drawing an arrow from the opening bracket of adjectival and adverbial clauses to the word that each modifies. Label the function of noun clauses (DO, OP, etc.) above the opening bracket. 

5. Put a vertical line after each main clause. 

6. On the line after each sentence write “CS” for comma-splice or “RO” for run-on. Then fix the problem by writing in a semicolon, colon, or semicolon where it belongs.

7. Make any other changes that you think would make the sentence clearer.

Ex. 21 a - Fixing Comma Splices and Run-ons [AK]

Note: Because the difference between a colon and a dash is simply between formal and casual style, out of context, anywhere I used either, the other could be used. (Actually, any of the three marks is better than a splice or run-on.)

These sentences include some constructions that the students have not studied.
1. Not all tires are created (P) equal (RPA) — | there are many factors (PN) [Adj. to “factors” that determine [DO what type {of tire} goes {on an automobile}]]. | ___CS (amplification)___

2. It takes a lot (DO) to get [V Inf. DS] the equipment [S] *to be* [V Inf DO] ready (PA): | the fireman must wash the inside (DO) and out (DO), clean the tires (DO), and also all the equipment (DO) {on the truck}. | __CS (amplification)____

I would also accept “to get” as an adverb of purpose.  “Equipment” is the subject and “ready” is a predicate adjective to an ellipsed infinitive. The infinitive phrase is the direct object of “to get.”
3. They also have food (DO) provided [V Give. Adj. to “food”] — | {for example} this year [NuA] they had a pork roast (DO), soup (DO), hot dogs (DO), soda (DO), and French fries (DO). | __CS (amplification)____

When they get to noun absolutes that function as nouns, many people will explain “food provided” as a noun absolute that functions as the direct object.

4. The wildlife is amazing (PA): | the birds and the moose are quite an experience (PN). | ___CS (amplification)___

5. One thing (DO) you might want to note [V Inf. DO] — | it takes {between 25-40 gallons} {of sap} to make [V Inf. DS] one gallon (DO) {of syrup}. | ___RO (amplification)___

6. My father went {into the cage} {with the bear} first; | then the newspaper person asked my mother (IO) [DO if she went {in the pen}]. | RO (contrast—father ; mother)_
7. It wasn’t your usual auditorium (PN); | it was {like Yankee stadium}. | __RO (contrast—usual ‘ Yankee stadium)____

The “like” phrase can also be explained as a predicate adjective.

8. Too often we are quick (PA) to judge [V Inf. Adv. to “quick”] people (DO) {by their appearance}: | those [Adj. to “those” *whom* [S] we perceive to be [V Inf. DO of “perceive”] dumb (PA), or rude (PA) ] {in reality} could be very intelligent (PA) and well-mannered (PA). | ___CS (amplification)___

The ellipsed “whom” is understood as who is perceived to be dumb or rude. It functions both as the conjunction and as the subject of “to be.”
9. Polonius is portrayed (P) {as an imbecile}: | {throughout the entire play} he continually makes a raging fool (DO) {of himself}. | ___CS (amplification)___
Fixing Fragments
Directions for the exercise: In Pencil? 

1. Fix the fragments by crossing out words and changing capitalization and punctuation.
2. Place parentheses ( ) around prepositional phrases. 

3. Underline every finite verb twice, its subject once, and label any complements.

4. Label every verbal “V,” its function, and its complement by type.
5. Place brackets [ ] around each subordinate clause. 

6. Put a vertical line after each main clause. 

Ex. 21 b – Fixing Fragments [AK] Skip?
Note: There are other ways of correction these sentences, the primary of which is to use subordinate clauses. In #1, for example, “which is” can be inserted before “also.”
1 {Throughout the story}, we hear {about this Fountain} {of Youth}, also referred to [V Give. Adj. to “Fountain] {as the elixir} {of life} or {*as* the liquid} {of youth}. |
“Referred to” equals “called.”

2. Hamlet’s encounter {with the clown} (gravedigger) [App] reveals some subtleties (DO) {about his character}, [Adj. to “subtleties” one {of which} is a fascination (PN) {with death}]. |
The “one of which” clause gets a special focus in the “Grade-Level” and “Ideal” books. Note that the “one” might be initially read as an appositive to “subtleties” but is also the subject of “is.”
3. [Adv. (cause) to “missed” Because he was bored (P) {with his English class},] he missed the rest (DO) {of his classes}, causing [V Ger NuA to “missed”] the grades (DO) {in the rest} {of his classes} to fall [V Inf. Adj. to “grades”]. |
Alternatively, “grades” may be processed as the subject of the infinitive “to fall,” and the infinitive phrase as the direct object of “causing.”

4. He works {by himself} {in his study}, [Adj. to “study” which many find to be [V Inf. DO] a “very curious place (PN).”] |
“Which” is a pronoun that here means “study” and functions as a subordinating conjunction and as the subject of the infinitive “to be”—find the study to be a very curious place.

5. The farmer will then have to transport water (DO) in or put in a treatment system, (DO) | and that all costs a large amount (DO) {of money}, money [App] [Adj. to “money” that some {of the smaller farmers} just don’t have. |
6. [Adv. (time) to “believed” When Ophelia died {by drowning [V Ger. OP]} {in a creek},] some people believed [DO that she drowned herself (DO) {on purpose} {because of everything} [Adj. to “everything” that had happened {to her} (IO)]]. |
7. Toland also reports [DO that only one {out of five minimum wage workers} are sole supporters (PN), meaning [V Ger. NuA to “are”] [DO that there are very few (PN) {in poverty}]]. |
The “one . . . are” raises interesting questions about subject/verb agreement, but after some thought I didn’t count it as an error. The “one” is statistical and represents, as the writer stated, “sole supporters.”

My problem is the meaning of “sole supporters.” It could mean people who only have to support themselves. Or it could mean people who are the sole supporters of an entire family. Thus I cannot square that with the final clause in the sentence. Even people who only have to support themselves may have severe financial problems if they are earning only the minimum wage. For example, they may have medical problems and bills. And, according to the sentence, 80% of minimum wage workers may have a family to support. Without more information, that final clause is not supported.
Lesson 22 – The Tenses of Verbs

[http://kissgrammar.org/kiss/wb/LPlans/WB_L1_6.htm]

Most students have a competent command of tenses. Sometimes a student will shift from past to present or to future inappropriately, but I may have noted five or so cases of this during forty years of teaching. If you’re interested, there is a complete conjugation of “discover” on the KISS site.
Ex. 22 - Recognizing Basic Verb Tenses [AK] Skip?
1. One day [NuA] Billy was racing along {in front} {of the children}. | past 

2. I am very sorry (PA), sir [DirA]. | present 

3. {At home}, the children will teach Billy Jones (IO) many tricks (DO). | future 

4. Billy Jones carries his lunch basket (DO) {to a chair}. | present 

5. They will teach the dog (IO & S) never to cross [V Inf DO of “will teach”] the street (DO) [#1] {without them}. | future 

1. “Street” is the direct object of the verbal (infinitive) “to cross.” The infinitive phrase functions as the direct object of “will teach.” 

6. {In doing so (DO #2)} he runs bang [NuA] {into a big St. Bernard dog}. | present 

2. “So” is the direct object of the verbal (gerund) “doing” which functions as the object of the preposition “In.”
7. People {along the way} were laughing and shouting {to the dog}. | past 

8. One day [NuA] the cook left the door [S] *to be* [V Inf. DO] open (PA) [#3] only a wee bit [NuA]. | past 

3. “Open” is a predicate adjective after an ellipsed infinitive—“left the door to be open.” The infinitive phrase functions as the direct object of “left.” 

9. Billy will be surprised (P) {by all the funny games}. | future 

10. The little dog throws back his funny little round face (DO) and whines and barks and howls all {in time} {to the music}. | present 

Lesson 23 – Replacing Lost Punctuation
[http://kissgrammar.org/kiss/wb/LPlans/WB_L1_7_Punct.htm]
Ex. 23a - Punctuation from “Philemon and Baucis” [AK] Skip?
The Original Text
Long ago, on a high hill in Greece, Philemon and Baucis lived.

They were poor, but they were never unhappy. They had many hives of bees from which they got honey, and many vines from which they gathered grapes. One old cow gave them all the milk that they could use, and they had a little field in which grain was raised.
The old couple had as much as they needed, and were always ready to share whatever they had with any one in want. No stranger was ever turned from their door.

At the foot of the hill lay a beautiful village, with pleasant roads and rich pasture lands all around. But it was full of wicked, selfish, people, who had no love in their hearts and thought only of themselves.

Analysis Key

Long ago, {on a high hill} {in Greece}, Philemon and Baucis lived. |
They were poor (PA), | but they were never unhappy (PA). | They had many hives (DO) {of bees} [Adj. to “hives” {from which [*]} they got honey (DO)], and many vines (DO) [Adj. to “vines” {from which [*]} they gathered grapes (DO)]. | One old cow gave them (IO) all the milk (DO) [Adj. to “milk” that they could use], | and they had a little field (DO) [Adj. to “field” {in which} grain was raised (P)]. |
The old couple had as much [Adv. to previous “as” as they needed], and were always ready (PA) to share [V Inf. Adv. to “ready”] [DO whatever (DO) they had] {with any one} {in want}. | No stranger was ever turned {from their door}. |
{At the foot} {of the hill} lay a beautiful village, {with pleasant roads and rich pasture lands} all around. | But it was full (PA) {of wicked, selfish, people}, [Adj. to “people” who had no love (DO) {in their hearts} and thought only {of themselves}]. |
* Note the parallel construction in the adjectival subordinate “from which” clauses that modify “hives” and “vines.” Slightly less parallel are the adjectival clauses that modify “milk” and “field.”
Ex. 23b - from “The Lost Phoebe” [AK] Skip?
This seventy-six-word main clause should help students see why semicolons are used to separate items in a series when those items themselves include commas. In this case, we have a series of appositives. 

The Original Text for “An Exercise in Punctuation” 

All sorts of other broken-down furniture were about this place; an antiquated clothes-horse, cracked in two of its ribs; a broken mirror in an old cherry frame, which had fallen from a nail and cracked itself three days before their youngest son, Jerry, died; an extension hat-rack, which once had had porcelain knobs on the ends of its pegs; and a sewing machine, long since outdone in its clumsy mechanism by rivals of a newer generation.

Analysis Key
All sorts {of other broken-down furniture} were {about this place}; [#1] an antiquated clothes-horse [App #2], cracked [V Give Adj. to “clothes-horse”] {in two} {of its ribs}; a broken mirror [App #2] {in an old cherry frame}, [Adj. to "frame" which had fallen {from a nail} and cracked itself (DO) three days [NuA] [Adj. to "days" before their youngest son, Jerry [App to “son”], died]]; an extension hat-rack [App #2], [Adj. to "hat-rack" which once had had porcelain knobs (DO) {on the ends} {of its pegs}]; and a sewing machine [App #2], long since outdone [V Give to “machine”] {in its clumsy mechanism} {by rivals} {of a newer generation}. | 

Notes

1. Note that Dreiser used a semicolon. The current norm tends toward a colon if the following are details.

2. “Clothes-horse,” “mirror,” “hat-rack,” and “sewing machine” are examples of the “sorts,” and thus appositives to it. 

Statistical Stylistics

Lesson 24 – Statistical Stylistics
[http://kissgrammar.org/kiss/wb/LPlans/WB_Stats_Style.htm]

[http://kissgrammar.org/NatSynDev/index.html]
My classes did spend an entire class period on this assignment. The assignment for that day was to analyze the first 200 words of a recently assigned paper. (The paper should not include quotations from other writers.) During class, the students worked in small groups to fix any problems with each others’ analysis. I remember one student who brought his paper up to me and asked if a subordinate clause could be inside another subordinate clause. He knew the definitions of clauses, main and subordinate. I asked him if the sentence itself was good, and when it said it looked good to him, I affirmed his judgment. (This is my reason for adding a lesson on embedded clauses to this book.)

Another student brought his paper up to me and said that he and his group could not find any subordinate clauses in his paper. I read it quickly and they were right. In the context of the course, all I could do was to direct him to sentence-combining exercises. There is only so much that we can do in the context of one course that is not even devoted just to grammar. You can find some of these exercises in the KISS Master Collection under “Subordinate Clauses.” For the next class, they were to make any corrections, do the calculations, and hand in the final assignment.
I’ve put the following in this AK book so that you can decide how much of it you want to share with your students. Some fascinating studies in the 1960’s and 70’s demonstrated that a writer’s average number of words per main clause naturally increases with age. 
The table on the next page is a compilation of several major studies: 

Average Number of Words per Main Clause by Grade Level
	Grade Level
	Loban’s Study
	Hunt’s Study
	O’Donnell’s Study
	KISS Study

	3
	7.6
	
	7.7
	8.9

	4
	8.0
	8.5
	
	8.8

	5
	8.8
	
	9.3
	10.7

	6
	9.0
	
	
	9.2

	7
	8.9
	
	10.0
	10.5

	8
	10.4
	11.3
	
	11.7

	9
	10.1
	
	
	13.3

	10
	11.8
	
	
	17.1

	11
	10.7
	
	
	14.4

	12
	13.3
	14.4
	
	

	College Fresmen
	
	
	15.6

	Professional Writers
	20.3
	
	17.5

	Loban’s data taken from Language Development: Kindergarten through Grade Twelve. Urbana, IL.: NCTE. 1976. 32. Hunt’s and O’Donnell’s data taken from the summary in Frank O’Hare, Sentence Combining. Urbana, IL.: NCTE. 1971. 22. The “KISS Study” is on the web at: http://kissgrammar.org/NatSynDev/index.html .


There are problems with most of these studies. The biggest problem is that the papers that were analyzed are not available. Fortunately, several state Departments of Education have given me permission to use (and put on the KISS site) the graded writing samples in their state standards documents. I sincerely thank them because anyone can see exactly what I counted as what.
Hunt developed what he called a “T-Unit” as the main measure. He defined it as a main clause with all the subordinate clauses that attach to it. (This is the KISS definition of “main clause.”) The other studies modified that definition in different ways. And there are other problems with what was counted. For example, some of the studies discarded what they called “garbles”—scribbled words that cannot be understood. KISS is interested in what was going on in the students’ STM as they wrote. Thus garbles represent words that were in the students’ heads. KISS therefore replaces garbles with “XXX” with spaces between each apparent “word” such that each garbled word counts.

Some studies corrected all the errors in the samples before doing the statistical analysis. Doing that, for example, eliminates fragments and results in more words per main clause. KISS counts fragments as main clauses, simply because the student punctuated them as fragments. Many fragments probably result from students’ inability to keep all the words in STM. Thus they put a period and then continue the sentence. (If you are interested, KISS also counts fragments, comma-splice, etc. per main clause.) 
Another problem with these studies is their defining and reporting of subordinate clauses. It might not even be possible to make a table for subordinate clauses per main clause like the one above for words per main clause. If you wish, you can share the following from the KISS studies.
	Average Number of Subordinate Clauses per Main Clause

	G03
	G04
	G05
	G06
	G07
	G08
	G09
	G10
	G11
	CF
	Prof

	36.4
	45.2
	51.8
	42.8
	43.7
	63.5
	56.0
	69.7
	64.3
	75.8
	61.6


We need some notes of caution here. First of all, although it is the first, and the basic yardstick for statistical discussions of style, words-per-main-clause is just that – the first and the basic. Other constructions significantly add to style, and some of those constructions result in fewer words per main clause. 
Second, we need to keep in mind the hasty generalization fallacy. An analysis of one sample of a person’s writing can give us a tentative perspective on that person’s ability and style, but to reach any valid conclusions, we need to consider numerous samples, including samples written on different topics, in different modes (narrative, natural division, etc.) and for different audiences. 

It would be nice if we had the time to analyze several samples, but within one course, we do not. Thus we have to go with one, in spite of the cautions. Why bother? Simply put, I am hoping that the students will get some sense of the quality of their own writing. Teachers often tell students that their sentences are “too short” or “too long,” but rarely do these teachers give students a valid frame of reference. Usually, these teachers do not even have a frame of reference comparable to the table given above. 

Many years ago a retired government official wanted to write a book about his perspective on the oil crisis. In order to do so, he took an advanced essay course that I was teaching. The class met once a week, and, since I knew his objective, I looked at his writing closely. I could not find any problems in it. Week after week I asked him why he thought he needed the course—why didn’t he just write the book? Finally, he noted that a teacher had told him that his sentences were too long. That was why he felt he could not write. So we took three or four samples of his writing, counted the words, counted the main clauses, divided the words by the number of main clauses, and came up with his average—21 words per main clause. That is almost one word higher than the professional average in Hunt’s study, but an average is an average. Some professionals average twenty-six, and some average eighteen. There was absolutely nothing “wrong” with his sentences—they were not too long. But a teacher had totally destroyed his confidence in his ability to write. In a KISS context, I would have told this student that if he was worried about his clauses being too long, he could do some de-combining exercises.
As for the statistical norms that you might want to share with your students, I simply made a graph of the individual results (without names) and of the class average. This is fairly easy to do, and once you have a graph set up in Excel, all you’ll need to do is change the data, and you’ll have a graph for the next semester.
Ex. 24 a – Words per Clause and Subordinate Clauses per MC [AK] Skip?
This sample is from a high-scoring ninth grader, and as we might expect, the statistical results are above the norm. I chose it because it reflects some of the problems students will have with the analysis. Please don’t be intimidated by the problems with analyzing the students own writing. Questions will probably arise, but even for this paper, all the main and subordinate clauses have been presented in the preceding instructional material. You might want to read “Teaching Grammar with the KISS Approach: ‘I Don't Know’.” The first thing I did when I was faced with such questions, was to ask the class for their opinions. You can also post questions on either of the two discussion groups. 
I think [DO an invention [Adj. to “invention” that has affected our lives (DO)] is the telephone (PN)]. | It has changed [DO the way [NuA] our society works]. | [Adv. to “couldn’t” When Alexander Bell invented the “silly contraption (DO) [Adj. to “contraption” that would be {of no use},”]] he couldn't have possibly known the difference (DO) [Adj. to “difference” it would make {in people's lives}]. | People used to use the telephone (DO) {for only emergency phone calls} | and still others refused to use [V Inf. DO] it (DO) {at all}. | Now, though, {in the twenty-first century}, telephones are one (PN) {of the most important tools} {in our everyday lives}. | We use it (DO) to make [V Inf. Adv. (purpose)] business calls (DO), make [V Inf. Adv. (purpose)] appointments (DO), and chat [V Inf. Adv. (purpose)] {with friends} [Adj. to “friends” we see regularly]. | How would you feel [Adv. (condition) to “How” if you had to write a letter (DO) every day [NuA] just to make [V Inf. Adv. (purpose) to “had to write”] casual small talk (DO)]? | It was amazing [V Give. PA] [Del Sub how people eighty years [NuA] ago would write an eight page letter (DO) {instead of using [V Ger OP] that same hand (DO) to dial [V Inf. Adv. (purpose)] a telephone number (DO)}]! | I know [DO I certainly would rather hear my friends’ voices (DO) {instead of waiting [V Ger OP] three weeks [NuA]} {for a simple letter [S] to be delivered [V Inf. OP]}]. |
“Letter” is the subject of the infinitive “to be delivered.”
1. # of words counted ____166______

2. # of main clauses _____10_____

3. # of subordinate clauses ___10_______

4. # of words per main clause (# 1/ #2) ___16.6_______

5. # of subordinate clauses per main clause (# 3/ #2) ___1.0_______

Appendix: The Purpose of Each Lesson
Introduction

I considered putting these comments in the analysis key above for each exercise, but decided against that because it would spread them out too much. I hope this arrangement helps you see how the parts of this course fit together. I marked 27 of the 44 exercises “Skip?” but I strongly suggest that you use more than just the remaining 17. The following explains exercises that you might want to use, depending on your objectives. Some of those exercises focus on constructions that enable students to explain more of the text. Others focus on logic, style, avoiding/correcting errors including punctuation, or on analyzing their own writing.
Lesson # 1 – Subjects, Verbs, and Complements
A fourth grade teacher told me that she was expected to teach her students how to identify clauses, but many of her students just couldn’t get it. The problem was that her students could not identify subjects, (finite) verbs, and complements in the first place. A clause is a subject—(finite) verb—complement pattern and all the words that modify the words in that pattern. If students can identify those patterns, they can easily learn how to identify clauses. In addition, students who can identify the words in these patterns will learn the differences between “its” and “it’s,” “their” and “they’re,” “of” and “have,” etc.
Lesson # 2 – Nouns, Verbs, Adjectives and Adverbs

In KISS students learn about the parts of speech as they are needed. They have learned about verbs in Lesson #1, so the major focus of this lesson is on nouns, pronouns, adjectives and adverbs. The last two are important for two reasons. First they introduce modifiers and chunking. Second, most prepositional phrases and many subordinate clauses function as adjectives or adverbs. Thus when we get to those phrases and clauses, students are simply building on concepts that they have already studied.

Lesson # 3 – Adding Simple Prepositional Phrases
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There are two reasons for adding prepositional phrases in the third lesson. The graph is from the KISS statistical studies. In the page that comes up from that link, click on the “Prep Phrases” tab at the bottom to see more. This graph indicates the % of words in prepositional phrases in the samples. I did not count the words in S/V/C patterns or words that are adjectives or adverbs. If those are added to the words in prepositional phrases, informal studies suggest that the students will be able to explain the function of 90-95% of the words in their own writing. To see that they can already explain that many words in a text motivates students to get that last 5-10%.
The second reason is that some students will identify the object of a preposition as the subject of a verb. For example:

One {of the books} are missing.
Part of learning about prepositional phrases is to learn that the object of a preposition can never be the subject of a verb. Therefore that verb has to be “is missing.”
The second exercise in this lesson is marked “Skip?” because all the following analytical exercises will direct students to identify prepositional phrases. If too many of your students are still having problems with S/V/C patterns, you might want to use Ex. 3b for more practice on that.
Lesson # 4 –Adding “You” and “There” as Subjects
“You” as a subject should be easy, but this lesson focuses on “you” ellipsed, as in “Stop that!” Many grammar books consider “there” near the beginning of a sentence as an “expletive.” They then identify a word that appears later in the sentence as the subject. This adds an unneeded term for the students to learn. Arthur Whimbey once asked me about possible subject/verb agreement problems—“there” as an expletive is neither singular nor plural. My response was that “there” appears as a subject only in S/V/PN patterns, and in those patterns the subject must equal the predicate noun.

I doubt that very few people would say “There is five cats there,” but even if they do, KISS shows them their problem. 
Lesson # 5 – Adding the Five Types of Complements
In The Miracle of Language (Fawcett, 1967), Charlton Laird merrily devotes a few pages mocking the concept of “receives the action of” to determine a direct object. One of his examples is “Jimmy saw the goldfish” (163). What action did “goldfish” receive? If you think about it, you can probably come up with examples of your own. In “She bought stamps,” for example, do the stamps receive the action or does she? My point, of course, is that the explanations in almost all the textbooks are incomplete, often nonsense, and they do not give students the skills they need to be able to understand the structure of real sentences. KISS therefore gives students a series of questions to determine whether a complement is absent (zero complement), a predicate adjective, a predicate noun, or a direct or indirect object. KISS is also more meaningful in that a predicate noun must in some way equal the subject and a predicate adjective must modify the subject.
Lesson # 6 – Adding Main Clauses
KISS introduces the concept of clauses by focusing on compound main clauses. Among other things, this gets students used to looking for more than one S/V/C pattern in sentences. Remember that students will be expected to identify the main clauses in all the following analytical exercises,
Lesson # 7 – Interjection, Direct Address, & Noun Used as an Adverb

This is marked “Skip?” but the concepts are very simple. You probably should use it if you decide to use Lesson # 12 – Subordinate Clauses as Interjections. I did not address subordinate clauses as interjections in my composition course, but since then I have realized it as more important, especially for narrative writing. In KISS, such things as speaker tags are explained as interjections:
“It’s been a long day (PN),” [Inj. said Donald]. |
KISS bases that explanation on the psycholinguistic model: at the end of a sentence short-term-memory is cleared. Unless the sentence begins with a subordinating conjunction, our minds take the first thing that can be a subject as a subject. Thus “It” is immediately taken as the subject of a main clause. We then process “said Donald” as an interjection. Making up new terms just confuses things. Keep It Simple and Sensible.
Lesson # 8 – Distinguishing Finite Verbs from Verbals
This is one of the most important lessons in KISS. You may have noticed that KISS does not give the traditional definition of verbs as “denoting action or state of being.” Given that definition and a sentence such as “They went to the store to buy a present,” students will logically underline “buy” as a verb. It is a verb, but it is not a finite verb—a verb that they are expected to underline twice. It is a verbal—a verb that functions as a noun, adjective, or adverb. In the KISS instructional material students are give three questions to determine whether or not a verb is a verbal. Without that, students will underline every verb in a sentence—and have real problems identifying clauses. If you want your students to be able to analyze their own writing, I strongly suggest using both exercises.
Lesson # 9 – Palimpsest Patterns

To my knowledge, Palimpsest Patterns are unique to KISS Grammar. The students do not need to remember the term “palimpsest pattern.” The objective should be that the students be able to easily identify the type of complement. Textbooks ignore sentences that include them. Instead they give an incomplete list of “linking verbs.” For example, the following sentence is in George Macdonald’s At the Back of the North Wind:

The stars were still shining clear and cold overhead.
I doubt that you will find “shining” in any list of “linking verbs.” Note that if students use the method for identifying complements, “clear” and “cold” describe the stars, so they are predicate adjectives. The number of S/V/C patterns that KISS enables students to easily explain is probably larger than you might think. I suggest browsing http://kissgrammar.org/kiss/wb/LPlans/WB_L2_1_4_Palimpsest.htm I marked this exercise “Skip?” because I wasn’t able to address them when I taught the course,
Lesson # 10 – Adding Subordinate Clauses
This lesson addresses the last major instructional material that the students will need to meet the course objective. (Remember that many of the following exercises reinforce this.) Because the students have studied the functions of adjectives, adverbs, prepositional phrase, and verbals, the function of individual clauses is easier to determine. I suggest doing all three exercises. Don’t forget that you can substitute or add exercises from http://kissgrammar.org/kiss/wb/LPlans/WB_L3_1_2_SubCl.htm.
Lesson # 11 – A Focus on Modal Helping Verbs (Skip?)
This is a focus on helping verbs like “should,” “would,” “could,” but the sentences in the exercise include subordinate clauses.

Lesson # 12 – Subordinate Clauses as Interjections (Skip?)
The two exercises are marked “Skip?” I did not have the time to include them when I taught the course. (See Lesson #7 above.) You might want to look at: http://kissgrammar.org/kiss/wb/LPlans/WB_L3_2_3_SubCl_Inj_DO.htm. 

Lesson # 13 – Preposition or Subordinate Conjunction? (Skip?)
This lesson focuses on words like “after,” “because,” and “like” that can function as prepositions or as subordinate conjunctions. It was not included in my course.
Lesson # 14 – Embedded Subordinate Clauses 
I marked the second exercise “Skip?” but it might be a good idea to use it. It clearly focuses on students’ ability to identify clauses.
Lesson 15 – Adding Delayed Subjects
I didn’t include these when I taught the course, but since then I’ve done a lot of research. The following table shows the percent of students who used a delayed subject at each grade level. 

	 
	G03
	G04
	G5
	G06
	G07
	G08
	G09
	G10
	G11
	CF

	SC/TSC
	0
	12
	8
	8
	6
	4
	8
	11
	16
	18

	Inf/MC
	5
	12
	8
	4
	17
	13
	3
	15
	32
	14

	SC/TS = % Who Used a Subordinate Clause as a Delayed Subject

	Inf/MC = % Who Used an Infinitive as a Delayed Subject


Each group had at least twenty samples. I suggest using the first (mixed) of the three exercises, and I’ve included the table to help you decide whether you want to use the last two, which may be important if you want your students to analyze their own writing.
Lesson 16 – The Logic of Subordinate Clauses
Several people have remarked that they like the way that KISS focuses on logic, and my notes for teachers in the analysis key are lengthy so I will not elaborate more here. The four exercises in lessons 16 and 17 are marked “Skip?” because students may not need them to identify subordinate clauses. If I were still teaching this course, I’d use these two lessons and skip Lessons 18 and 19.
Lesson 17 – Subordinate Clauses – Logic and Focus (Skip?)
This lesson expands on lesson 16 and focuses on the MIMC principle—Main Idea in Main Clause. 
Lesson 18 – Adding Appositives & Post-Positioned Adjectives
If your objective is to enable students to analyze as much of their own writing as they can, you may want to use this lesson instead of 16 and 17. The table indicates the percent of students in different grades who used these two constructions.
	% of Stu
	G03
	G04
	G5
	G06
	G07
	G08
	G09
	G10
	G11
	CF

	App
	35
	48
	46
	21
	55
	29
	25
	48
	24
	30

	PPA
	10
	8
	21
	13
	13
	29
	8
	9
	11
	25


It’s a difficult choice, but we cannot teach everything in KISS in a one-semester composition course. 

Lesson19 – Passive Voice (Skip?)
Students are often told not to use passive voice, but the problem is that they cannot identify finite verbs in the first place. I did not address the question in my course, and I’ve marked both exercises “Skip?” It’s your choice.
Lesson # 20 – Main Clauses – Punctuation & Logic (Skip?)
I did address this topic in my course, but not as much as I desired to. Here again it is a question of time. I marked all three exercises “Skip?” Cognitive psychologists and my own experience have convinced me that doing just one exercise on this is not very effective.
Lesson # 21 – Main-clause Boundary Errors

This lesson addresses a similar problem that 20 does, but 20 focuses on understanding norms of logic, especially for using semicolons. Many students join two main clauses together with a comma (a comma-splice) or run one main clause into the next with no punctuation or capitalization (a run-on). The exercises in 21 ask students to fix sentences that contain splices, run-ons, or fragments.
Lesson # 22 –The Tenses of Verbs (Skip?)
In my forty plus years of teaching I rarely saw tense shift, for example, switching from past to present inappropriately. If you see such problems, you could use this exercise as early as after lesson one. The KISS site contains a number of exercises on this http://kissgrammar.org/kiss/wb/LPlans/WB_L1_6.htm. 
Lesson 23 – Replacing Lost Punctuation (Skip?)
These are marked “Skip?” but a lot of people have noted that they are good exercises, and they are easy to make.
Lesson # 24 – Statistical Stylistics (Skip?)
As I explained above, my classes spent an entire class period working on this assignment. Students found it interesting.






